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1)

Question Stimulus :­

Fill in the blank with the correct option.

This most naughty prank of mine convinced my parents that I ______taught as soon as
possible.

must be

can be

may be

might be

Correct Answer :­must be 

2)

Question Stimulus :­

Fill in the blank with the correct option.

The lock is broken. Someone ______broken into the house.

ought not to have

ought to 

should have

must have

Correct Answer :­must have 

3)

Question Stimulus :­

Fill in the blank with the correct option.

We ______eat lots of fruit and vegetables every day.



could

may

ought to

might

Correct Answer :­ought to 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

The famous writer was born in Vietnam, but he was brought _____ in America.

up

for

by

into

Correct Answer :­up 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

The cost should be shared equally _______the three of you.

with

across

between

among

Correct Answer :­among 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.



The boy looked uncomfortable and out ____ place among the adults.

off

in

from

of

Correct Answer :­of 

7)

Question Stimulus :­

Fill in the blank with the correct prepositions.

The poisonous serpent was killed ____the villagers ____a stick.

by, through

for, from

with, by

by, with

Correct Answer :­by, with 

8)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Disease of the soul

are more dangerous than

those of the body.

No Error

Correct Answer :­Disease of the soul 

9)

Question Stimulus :­



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A broken friendship

will be soldered but

will never be sound.

No Error

Correct Answer :­will be soldered but 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

She stood still for a moment

and looked at

an one­eyed cobbler.

No Error

Correct Answer :­an one­eyed cobbler. 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

She received

a honour for her services

to the community.

No Error

Correct Answer :­a honour for her services 

12)



12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

The Pyramids in Egypt

are oldest monuments

in the world.

No Error

Correct Answer :­are oldest monuments 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

My aunt will comes to meet you,

as soon as you

reach the airport with your family.

No Error

Correct Answer :­My aunt will comes to meet you, 

14)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

I will help his younger brother

provided he

mends his ways.

No Error



Correct Answer :­No Error 

15)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Unless he will not take care

of his health,

he will not recover.

No Error

Correct Answer :­Unless he will not take care 

16)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

The Prime Minister and President of the party is on a visit to the town today.

The Prime Minister and the President of the party is on a visit to the town today.

The Prime Minister and President of the party are on a visit to the town today.

The Prime Minister and President of the party have been on a visit to the town
today.

Correct Answer :­The Prime Minister and President of the party is on a visit to the
town today. 

17)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said, “Be quiet and listen to my words.”

He urged them to be quiet and listen to his words.

He urged them to keep quiet and be listening to his words.



He urged them to be quiet and keep listening to his words.

He urged them to remain quiet and keep listening his words.

Correct Answer :­He urged them to be quiet and listen to his words. 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct direct speech of the
sentence given below.

He inquired whether his name was not Ahmed.

He said to him, “Is your name Ahmed?”

He said to him, “Is it your name Ahmed?”

He said to him, “Is not your name Ahmed?”

He said to him, “Is that not your name Ahmed?”

Correct Answer :­He said to him, “Is not your name Ahmed?” 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

I said, " I am not in a happy mood today".

I said that I had not been in a happy mood that day.

I said that I am not in a happy mood today.

I said that I was not in a happy mood that day.

I said that I was not in a happy mood today.

Correct Answer :­I said that I was not in a happy mood that day. 

20)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.



A bicycle had to be borrowed from a cottage.

They were borrowing a bicycle from a cottage.

They borrowed a bicycle from a cottage.

They have to borrow a bicycle from a cottage.

They had to borrow a bicycle from a cottage.

Correct Answer :­They had to borrow a bicycle from a cottage. 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

I am disappointed that an unrealistic policy has been adopted by committee.

It has disappointed me that the committee has adopted an unrealistic policy.

It is disappointing to me that the committee has adopted an unrealistic policy.

It disappoints me that the committee has adopted an unrealistic policy.

It has been disappointing to me that the committee has adopted an unrealistic
policy.

Correct Answer :­It disappoints me that the committee has adopted an unrealistic
policy. 

22)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Is a letter written by you?

Did you write a letter?

Is a letter being written by you?

Are you writing a letter?

Do you write a letter?



Correct Answer :­Do you write a letter? 

23)

Question Stimulus :­

Fill in the blank with the correct option.

After the trip, it was nice getting back to ______ home comforts.

little

a few

few

the few

Correct Answer :­a few 

24)

Question Stimulus :­

Fill in the blank with the correct option.

I know quite ______people who have had the same problem.

a few

few

the few

a little

Correct Answer :­a few 

25)

Question Stimulus :­

Fill in the blank with the correct option.

The dog's name was engraved on _____ metal disc attached to its collar.

some

little

a little



the few

Correct Answer :­a little 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Welcome to the brave new world of high­tech dentistry. Here, teeth stained by coffee,
tea and tobacco are bleached considerably white in a single sitting, and crowned and
laminated in a single visit. Infected gum tissue can be vaporized bloodlessly in a few
minutes with lasers.

Even though restorative dentistry dates back to ancient civilizations, it is, in a sense, a
new art and one that is increasingly in demand. Indeed, restorative dentistry has
become a multi­billion­dollar industry. More and more people are clamouring for
dentistry that not only ensures good oral health, but also helps attract admiring
glances and raises self­esteem.

If you need a restoration ­ either an inlay that replaces part of a tooth or a crown that
covers it entirely, some dentists offer a space­age ticket called 'Cerec'. This laser
scanner outlines and preserves the genetic design of your tooth with precision. It
calculates the tooth's exact size and shape, creates a three­dimensional computer
image and sends it to a milling unit where, in minutes diamond burrs transform a tiny
block of ceramic that is coloured to match the enamel of your other tooth into a
natural looking crown.

 

What is Restorative dentistry?

Study, diagnosis and treatment of the diseases of bones.

Study, diagnosis and treatment of the diseases of  skull.

Study, diagnosis and treatment of the diseases of teeth.

None of the above.

Correct Answer :­Study, diagnosis and treatment of the diseases of teeth. 

27)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Welcome to the brave new world of high­tech dentistry. Here, teeth stained by coffee,
tea and tobacco are bleached considerably white in a single sitting, and crowned and
laminated in a single visit. Infected gum tissue can be vaporized bloodlessly in a few
minutes with lasers.



Even though restorative dentistry dates back to ancient civilizations, it is, in a sense, a
new art and one that is increasingly in demand. Indeed, restorative dentistry has
become a multi­billion­dollar industry. More and more people are clamouring for
dentistry that not only ensures good oral health, but also helps attract admiring
glances and raises self­esteem.

If you need a restoration ­ either an inlay that replaces part of a tooth or a crown that
covers it entirely, some dentists offer a space­age ticket called 'Cerec'. This laser
scanner outlines and preserves the genetic design of your tooth with precision. It
calculates the tooth's exact size and shape, creates a three­dimensional computer
image and sends it to a milling unit where, in minutes diamond burrs transform a tiny
block of ceramic that is coloured to match the enamel of your other tooth into a
natural looking crown.

 

What does the word ‘clamouring’ mean?

Opposing

Buying

Demanding

Going against

Correct Answer :­Demanding 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Welcome to the brave new world of high­tech dentistry. Here, teeth stained by coffee,
tea and tobacco are bleached considerably white in a single sitting, and crowned and
laminated in a single visit. Infected gum tissue can be vaporized bloodlessly in a few
minutes with lasers.

Even though restorative dentistry dates back to ancient civilizations, it is, in a sense, a
new art and one that is increasingly in demand. Indeed, restorative dentistry has
become a multi­billion­dollar industry. More and more people are clamouring for
dentistry that not only ensures good oral health, but also helps attract admiring
glances and raises self­esteem.

If you need a restoration ­ either an inlay that replaces part of a tooth or a crown that
covers it entirely, some dentists offer a space­age ticket called 'Cerec'. This laser
scanner outlines and preserves the genetic design of your tooth with precision. It
calculates the tooth's exact size and shape, creates a three­dimensional computer
image and sends it to a milling unit where, in minutes diamond burrs transform a tiny
block of ceramic that is coloured to match the enamel of your other tooth into a
natural looking crown.



 

What does the word 'oral' mean in the passage?

Relating to the speech.

Relating to the sense of vision and hearing.

Relating to the mouth.

None of the above.

Correct Answer :­Relating to the mouth. 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Welcome to the brave new world of high­tech dentistry. Here, teeth stained by coffee,
tea and tobacco are bleached considerably white in a single sitting, and crowned and
laminated in a single visit. Infected gum tissue can be vaporized bloodlessly in a few
minutes with lasers.

Even though restorative dentistry dates back to ancient civilizations, it is, in a sense, a
new art and one that is increasingly in demand. Indeed, restorative dentistry has
become a multi­billion­dollar industry. More and more people are clamouring for
dentistry that not only ensures good oral health, but also helps attract admiring
glances and raises self­esteem.

If you need a restoration ­ either an inlay that replaces part of a tooth or a crown that
covers it entirely, some dentists offer a space­age ticket called 'Cerec'. This laser
scanner outlines and preserves the genetic design of your tooth with precision. It
calculates the tooth's exact size and shape, creates a three­dimensional computer
image and sends it to a milling unit where, in minutes diamond burrs transform a tiny
block of ceramic that is coloured to match the enamel of your other tooth into a
natural looking crown.

 

What can be done through high­tech dentistry?

All the cavities can be filled with a filling.

Artificial set of teeth can be replaced by natural ones.

Teeth can be polished, crowned and laminated in a single sitting.

None of the above.



Correct Answer :­Teeth can be polished, crowned and laminated in a single sitting. 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

Welcome to the brave new world of high­tech dentistry. Here, teeth stained by coffee,
tea and tobacco are bleached considerably white in a single sitting, and crowned and
laminated in a single visit. Infected gum tissue can be vaporized bloodlessly in a few
minutes with lasers.

Even though restorative dentistry dates back to ancient civilizations, it is, in a sense, a
new art and one that is increasingly in demand. Indeed, restorative dentistry has
become a multi­billion­dollar industry. More and more people are clamouring for
dentistry that not only ensures good oral health, but also helps attract admiring
glances and raises self­esteem.

If you need a restoration ­ either an inlay that replaces part of a tooth or a crown that
covers it entirely, some dentists offer a space­age ticket called 'Cerec'. This laser
scanner outlines and preserves the genetic design of your tooth with precision. It
calculates the tooth's exact size and shape, creates a three­dimensional computer
image and sends it to a milling unit where, in minutes diamond burrs transform a tiny
block of ceramic that is coloured to match the enamel of your other tooth into a
natural looking crown.

 

What can be done through Restorative dentistry?

Facial surgery can be done.

New teeth can be transplanted.

One can get rid of dirty and infected teeth, and can get Clean and sparkling teeth.

None of the above.

Correct Answer :­One can get rid of dirty and infected teeth, and can get Clean and
sparkling teeth. 

Topic:­ Hindi
1)

Question Stimulus :­

िन圀�िलἂ뀅खत ग倁偐ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन
कर开뼄।

 

ससंार म开뼄 दो अचकू शἂ뀅堀縅या ँह­ैवाणी और कम넀琉। कुछ लोग वचन स ेससंार को राह िदखात ेह最쨅 और कुछ लोग



ससंार म开뼄 दो अचकू शἂ뀅堀縅या ँह­ैवाणी और कम넀琉। कुछ लोग वचन स ेससंार को राह िदखात ेह最쨅 और कुछ लोग
कम넀琉 स।े श� द और आचार दोनो ंही महान शἂ뀅堀縅या ँह最쨅। श� द की मिहमा अपार ह।ै िव� व म开뼄 सािह㔀쀆, कला,
िवꄀ댅ान, शा� � सब श� द ­शἂ뀅堀縅 के 堀縅तीक 堀縅माण ह最쨅। पर कोरे श� द  嘁뀅थ넀琉 होत ेह最쨅, िजनका आचरण न हो। कम넀琉
के िबना, 嘁뀅वहार के िबना िसᘀ㔅ातं की कोई साथ넀琉कता नही ंह।ै िनሀदंहे श� द ­शἂ뀅堀縅 महान ह,ै पर िचर�थायी
और सनातनी शἂ뀅堀縅 तो 嘁뀅वहार ह।ै महा᠀ᰆा गाधंी न ेइन दोनो ंकी किठन और अद्भुत साधना की थी। महा᠀ᰆा
जी का सꨀणू넀琉 जीवन उ븀�ी ंदोनो ंस ेय堀ु縅 था। व ेवाणी और 嘁뀅वहार म开뼄 एक थ।े जो कहत ेथ ेवही करत ेथ।े यही
उनकी महानता का रह最焆 ह।ै क븀眅रूबा न ेश� द की अप茀े혂ा कृित की उपासना की थी, 騆ोिंक कृित का उ᠀㘆म व
िचर�थायी 堀縅भाव होता ह।ै‘बा’ न ेकोरी शाἂ뀅ꨀ帅क, शा냿眅ीय, सᘀै㔅ािंतक शꨀ帅ावली नही ंसीखी थी। व ेतो कम넀琉 की
उपािसका थी।ं उनका िव᠀㘆ास शꨀ帅ो ंकी अप茀े혂ा कम᠀㘆 म开뼄 था। व ेजो कहा करती थी ंउस ेपरूा करती थी।ं वे
रचना᠀ᰆक कम᠀㘆 को 堀縅धानता दतेी थी।ं इसी के बल पर उ븀�ोनं ेअपन ेजीवन म开뼄 साथ넀琉कता और सफलता 堀縅ाꀎ偐 की
थी।  

 

उपय堀ु縅 अन最ु촆दे का सवा넀琉िधक उपय堀ु縅 शीष넀琉क होगा­

वाणी और कम넀琉

िन᠀㘆ामिूत넀琉 क븀眅रूबा

महा᠀ᰆा गाधंी

क븀眅रूबा और गाधंी

Correct Answer :­वाणी और कम넀琉 

2)

Question Stimulus :­

िन圀�िलἂ뀅खत ग倁偐ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन
कर开뼄।

 

ससंार म开뼄 दो अचकू शἂ뀅堀縅या ँह­ैवाणी और कम넀琉। कुछ लोग वचन स ेससंार को राह िदखात ेह最쨅 और कुछ लोग
कम넀琉 स।े श� द और आचार दोनो ंही महान शἂ뀅堀縅या ँह最쨅। श� द की मिहमा अपार ह।ै िव� व म开뼄 सािह㔀쀆, कला,
िवꄀ댅ान, शा� � सब श� द ­शἂ뀅堀縅 के 堀縅तीक 堀縅माण ह最쨅। पर कोरे श� द  嘁뀅थ넀琉 होत ेह最쨅, िजनका आचरण न हो। कम넀琉
के िबना, 嘁뀅वहार के िबना िसᘀ㔅ातं की कोई साथ넀琉कता नही ंह।ै िनሀदंहे श� द ­शἂ뀅堀縅 महान ह,ै पर िचर�थायी
और सनातनी शἂ뀅堀縅 तो 嘁뀅वहार ह।ै महा᠀ᰆा गाधंी न ेइन दोनो ंकी किठन और अद्भुत साधना की थी। महा᠀ᰆा
जी का सꨀणू넀琉 जीवन उ븀�ी ंदोनो ंस ेय堀ु縅 था। व ेवाणी और 嘁뀅वहार म开뼄 एक थ।े जो कहत ेथ ेवही करत ेथ।े यही
उनकी महानता का रह最焆 ह।ै क븀眅रूबा न ेश� द की अप茀े혂ा कृित की उपासना की थी, 騆ोिंक कृित का उ᠀㘆म व
िचर�थायी 堀縅भाव होता ह।ै‘बा’ न ेकोरी शाἂ뀅ꨀ帅क, शा냿眅ीय, सᘀै㔅ािंतक शꨀ帅ावली नही ंसीखी थी। व ेतो कम넀琉 की
उपािसका थी।ं उनका िव᠀㘆ास शꨀ帅ो ंकी अप茀े혂ा कम᠀㘆 म开뼄 था। व ेजो कहा करती थी ंउस ेपरूा करती थी।ं वे
रचना᠀ᰆक कम᠀㘆 को 堀縅धानता दतेी थी।ं इसी के बल पर उ븀�ोनं ेअपन ेजीवन म开뼄 साथ넀琉कता और सफलता 堀縅ाꀎ偐 की
थी।

 

堀縅ायः स꤀缆न 嘁뀅ἂ뀅堀縅 ससंार को राह िदखात ेह­ै



堀縅ायः स꤀缆न 嘁뀅ἂ뀅堀縅 ससंार को राह िदखात ेह­ै

अपनी काय넀琉कुशलता से

अपनी सवेा­भावना से

अपन ेकम넀琉 एव ंवाणी से

堀縅㔀쀆के 嘁뀅ἂ뀅堀縅 की मदद करन ेकी भावना से

Correct Answer :­अपन ेकम넀琉 एव ंवाणी स े

3)

Question Stimulus :­

िन圀�िलἂ뀅खत ग倁偐ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन
कर开뼄।

 

ससंार म开뼄 दो अचकू शἂ뀅堀縅या ँह­ैवाणी और कम넀琉। कुछ लोग वचन स ेससंार को राह िदखात ेह最쨅 और कुछ लोग
कम넀琉 स।े श� द और आचार दोनो ंही महान शἂ뀅堀縅या ँह最쨅। श� द की मिहमा अपार ह।ै िव� व म开뼄 सािह㔀쀆, कला,
िवꄀ댅ान, शा� � सब श� द ­शἂ뀅堀縅 के 堀縅तीक 堀縅माण ह最쨅। पर कोरे श� द  嘁뀅थ넀琉 होत ेह最쨅, िजनका आचरण न हो। कम넀琉
के िबना, 嘁뀅वहार के िबना िसᘀ㔅ातं की कोई साथ넀琉कता नही ंह।ै िनሀदंहे श� द ­शἂ뀅堀縅 महान ह,ै पर िचर�थायी
और सनातनी शἂ뀅堀縅 तो 嘁뀅वहार ह।ै महा᠀ᰆा गाधंी न ेइन दोनो ंकी किठन और अद्भुत साधना की थी। महा᠀ᰆा
जी का सꨀणू넀琉 जीवन उ븀�ी ंदोनो ंस ेय堀ु縅 था। व ेवाणी और 嘁뀅वहार म开뼄 एक थ।े जो कहत ेथ ेवही करत ेथ।े यही
उनकी महानता का रह最焆 ह।ै क븀眅रूबा न ेश� द की अप茀े혂ा कृित की उपासना की थी, 騆ोिंक कृित का उ᠀㘆म व
िचर�थायी 堀縅भाव होता ह।ै‘बा’ न ेकोरी शाἂ뀅ꨀ帅क, शा냿眅ीय, सᘀै㔅ािंतक शꨀ帅ावली नही ंसीखी थी। व ेतो कम넀琉 की
उपािसका थी।ं उनका िव᠀㘆ास शꨀ帅ो ंकी अप茀े혂ा कम᠀㘆 म开뼄 था। व ेजो कहा करती थी ंउस ेपरूा करती थी।ं वे
रचना᠀ᰆक कम᠀㘆 को 堀縅धानता दतेी थी।ं इसी के बल पर उ븀�ोनं ेअपन ेजीवन म开뼄 साथ넀琉कता और सफलता 堀縅ाꀎ偐 की
थी।

 

जगत म开뼄 सािह㔀쀆, कला और िवꄀ댅ान­शा� �­

श� द ­शἂ뀅堀縅 का ꄀ댅ान करात ेह最쨅।

श� द ­शἂ뀅堀縅 के 娀ਇप ह最쨅।

श� द ­शἂ뀅堀縅 के 堀縅ामािणक 娀ਇप ह最쨅।

श� द ­शἂ뀅堀縅 स ेअलग नही ंह最쨅।

Correct Answer :­श� द ­शἂ뀅堀縅 के 娀ਇप ह最쨅। 

4)



Question Stimulus :­

िन圀�िलἂ뀅खत ग倁偐ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन
कर开뼄।

 

ससंार म开뼄 दो अचकू शἂ뀅堀縅या ँह­ैवाणी और कम넀琉। कुछ लोग वचन स ेससंार को राह िदखात ेह最쨅 और कुछ लोग
कम넀琉 स।े श� द और आचार दोनो ंही महान शἂ뀅堀縅या ँह最쨅। श� द की मिहमा अपार ह।ै िव� व म开뼄 सािह㔀쀆, कला,
िवꄀ댅ान, शा� � सब श� द ­शἂ뀅堀縅 के 堀縅तीक 堀縅माण ह最쨅। पर कोरे श� द  嘁뀅थ넀琉 होत ेह最쨅, िजनका आचरण न हो। कम넀琉
के िबना, 嘁뀅वहार के िबना िसᘀ㔅ातं की कोई साथ넀琉कता नही ंह।ै िनሀदंहे श� द ­शἂ뀅堀縅 महान ह,ै पर िचर�थायी
और सनातनी शἂ뀅堀縅 तो 嘁뀅वहार ह।ै महा᠀ᰆा गाधंी न ेइन दोनो ंकी किठन और अद्भुत साधना की थी। महा᠀ᰆा
जी का सꨀणू넀琉 जीवन उ븀�ी ंदोनो ंस ेय堀ु縅 था। व ेवाणी और 嘁뀅वहार म开뼄 एक थ।े जो कहत ेथ ेवही करत ेथ।े यही
उनकी महानता का रह最焆 ह।ै क븀眅रूबा न ेश� द की अप茀े혂ा कृित की उपासना की थी, 騆ोिंक कृित का उ᠀㘆म व
िचर�थायी 堀縅भाव होता ह।ै‘बा’ न ेकोरी शाἂ뀅ꨀ帅क, शा냿眅ीय, सᘀै㔅ािंतक शꨀ帅ावली नही ंसीखी थी। व ेतो कम넀琉 की
उपािसका थी।ं उनका िव᠀㘆ास शꨀ帅ो ंकी अप茀े혂ा कम᠀㘆 म开뼄 था। व ेजो कहा करती थी ंउस ेपरूा करती थी।ं वे
रचना᠀ᰆक कम᠀㘆 को 堀縅धानता दतेी थी।ं इसी के बल पर उ븀�ोनं ेअपन ेजीवन म开뼄 साथ넀琉कता और सफलता 堀縅ाꀎ偐 की
थी।

 

ग倁偐ाशं के अतंग넀琉त ‘गाधंी जी’ की महानता यह थी िक व े­

जो कहत ेथ,े वही करत ेथ।े

सदवै गरीबो ंकी मदद करत ेथ।े

सदवै िहसंा स ेअपन ेआपको दूर रखत ेथ।े

सदवै स㔀쀆 का सहारा लते ेथ।े

Correct Answer :­जो कहत ेथ,े वही करत ेथ।े 

5)

Question Stimulus :­

िन圀�िलἂ뀅खत ग倁偐ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन
कर开뼄।

 

ससंार म开뼄 दो अचकू शἂ뀅堀縅या ँह­ैवाणी और कम넀琉। कुछ लोग वचन स ेससंार को राह िदखात ेह最쨅 और कुछ लोग
कम넀琉 स।े श� द और आचार दोनो ंही महान शἂ뀅堀縅या ँह最쨅। श� द की मिहमा अपार ह।ै िव� व म开뼄 सािह㔀쀆, कला,
िवꄀ댅ान, शा� � सब श� द ­शἂ뀅堀縅 के 堀縅तीक 堀縅माण ह最쨅। पर कोरे श� द  嘁뀅थ넀琉 होत ेह最쨅, िजनका आचरण न हो। कम넀琉
के िबना, 嘁뀅वहार के िबना िसᘀ㔅ातं की कोई साथ넀琉कता नही ंह।ै िनሀदंहे श� द ­शἂ뀅堀縅 महान ह,ै पर िचर�थायी
और सनातनी शἂ뀅堀縅 तो 嘁뀅वहार ह।ै महा᠀ᰆा गाधंी न ेइन दोनो ंकी किठन और अद्भुत साधना की थी। महा᠀ᰆा
जी का सꨀणू넀琉 जीवन उ븀�ी ंदोनो ंस ेय堀ु縅 था। व ेवाणी और 嘁뀅वहार म开뼄 एक थ।े जो कहत ेथ ेवही करत ेथ।े यही
उनकी महानता का रह最焆 ह।ै क븀眅रूबा न ेश� द की अप茀े혂ा कृित की उपासना की थी, 騆ोिंक कृित का उ᠀㘆म व

िचर�थायी 堀縅भाव होता ह।ै‘बा’ न ेकोरी शाἂ뀅ꨀ帅क, शा냿眅ीय, सᘀै㔅ािंतक शꨀ帅ावली नही ंसीखी थी। व ेतो कम넀琉 की



िचर�थायी 堀縅भाव होता ह।ै‘बा’ न ेकोरी शाἂ뀅ꨀ帅क, शा냿眅ीय, सᘀै㔅ािंतक शꨀ帅ावली नही ंसीखी थी। व ेतो कम넀琉 की
उपािसका थी।ं उनका िव᠀㘆ास शꨀ帅ो ंकी अप茀े혂ा कम᠀㘆 म开뼄 था। व ेजो कहा करती थी ंउस ेपरूा करती थी।ं वे
रचना᠀ᰆक कम᠀㘆 को 堀縅धानता दतेी थी।ं इसी के बल पर उ븀�ोनं ेअपन ेजीवन म开뼄 साथ넀琉कता और सफलता 堀縅ाꀎ偐 की
थी।

 

श� द ­शἂ뀅堀縅 के महान ्होत े堀倅ए भी ­

嘁뀅वहार भी शἂ뀅堀縅 शाली ह।ै

嘁뀅वहार भी एक­शἂ뀅堀縅 के 娀ਇप म开뼄 है

श� द ­शἂ뀅堀縅 एव ं嘁뀅वहार दोनो ंमहान ्ह।ै

嘁뀅वहार की सनातनी शἂ뀅堀縅 ह।ै

Correct Answer :­嘁뀅वहार की सनातनी शἂ뀅堀縅 ह।ै 

6)

Question Stimulus :­

िन圀�िलἂ뀅खत का嘁뀅ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन कर开뼄।

 

सच हम नही ंसच तमु नहीं

सच ह ैमहज सघंष넀琉 ही

सघंष넀琉 स ेहटकर िजय ेतो 騆ा िजय ेहम या िक तमु

जो नत 堀倅आ वह मतृ 堀倅आ 嘀堅ो ंवृंत स ेझड़कर कुसमु

जो ल瀀혂 भलू 娀ਇका नहीं

जो हार दखे झकुा नहीं

िजसन े堀縅णय पाथये माना जीत उसकी ही रही

सच हम नही ंसच तमु नहीं

ऐसा करो िजसस ेन 堀縅ाणो ंम开뼄 कही ंजड़ता रहे

जो ह ैजहा ँचपुचाप अपन­ेआप स ेलड़ता रहे

जो भी प嘁뀅रἂ뀅�थितया ँिमल ेकाटँ ेचभु,े किलया ँἂ뀅खले

हारे नही ंइसंान, सदंशे जीवन का यही

सच हम नही ंसच तमु नही।ं।

 



जीवन की स堀縅ाई िकस ेबताया गया ह ै?

मन嘀ु堅 को

सघंष넀琉 को

पराजय को

भा笀帄 को

Correct Answer :­सघंष넀琉 को 

7)

Question Stimulus :­

िन圀�िलἂ뀅खत का嘁뀅ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन कर开뼄।

 

सच हम नही ंसच तमु नहीं

सच ह ैमहज सघंष넀琉 ही

सघंष넀琉 स ेहटकर िजय ेतो 騆ा िजय ेहम या िक तमु

जो नत 堀倅आ वह मतृ 堀倅आ 嘀堅ो ंवृंत स ेझड़कर कुसमु

जो ल瀀혂 भलू 娀ਇका नहीं

जो हार दखे झकुा नहीं

िजसन े堀縅णय पाथये माना जीत उसकी ही रही

सच हम नही ंसच तमु नहीं

ऐसा करो िजसस ेन 堀縅ाणो ंम开뼄 कही ंजड़ता रहे

जो ह ैजहा ँचपुचाप अपन­ेआप स ेलड़ता रहे

जो भी प嘁뀅रἂ뀅�थितया ँिमल ेकाटँ ेचभु,े किलया ँἂ뀅खले

हारे नही ंइसंान, सदंशे जीवन का यही

सच हम नही ंसच तमु नही।ं।

 

‘जो नत 堀倅आ, वह मतृ 堀倅आ’ आशय ह?ै

िजसन ेसघंष넀琉 िकया, वही मतृ 堀倅आ

िजसन ेहार मानी, वही मतृ 堀倅आ

िजसन ेसघंष넀琉 नही ंिकया, वही मतृ 堀倅आ



िजसन ेिनडर होकर सामना िकया, वही मतृ 堀倅आ

Correct Answer :­िजसन ेहार मानी, वही मतृ 堀倅आ 

8)

Question Stimulus :­

िन圀�िलἂ뀅खत का嘁뀅ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन कर开뼄।

 

सच हम नही ंसच तमु नहीं

सच ह ैमहज सघंष넀琉 ही

सघंष넀琉 स ेहटकर िजय ेतो 騆ा िजय ेहम या िक तमु

जो नत 堀倅आ वह मतृ 堀倅आ 嘀堅ो ंवृंत स ेझड़कर कुसमु

जो ल瀀혂 भलू 娀ਇका नहीं

जो हार दखे झकुा नहीं

िजसन े堀縅णय पाथये माना जीत उसकी ही रही

सच हम नही ंसच तमु नहीं

ऐसा करो िजसस ेन 堀縅ाणो ंम开뼄 कही ंजड़ता रहे

जो ह ैजहा ँचपुचाप अपन­ेआप स ेलड़ता रहे

जो भी प嘁뀅रἂ뀅�थितया ँिमल ेकाटँ ेचभु,े किलया ँἂ뀅खले

हारे नही ंइसंान, सदंशे जीवन का यही

सच हम नही ंसच तमु नही।ं।

 

‘काटँ’े और ‘किलया’ँ िकसके 堀縅तीक ह ै?

सखु­खिुशयाँ

आशा­िनराशा

दखु­सखु

सकंट­बाधा

Correct Answer :­दखु­सखु 

9)

Question Stimulus :­



िन圀�िलἂ뀅खत का嘁뀅ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन कर开뼄।

 

सच हम नही ंसच तमु नहीं

सच ह ैमहज सघंष넀琉 ही

सघंष넀琉 स ेहटकर िजय ेतो 騆ा िजय ेहम या िक तमु

जो नत 堀倅आ वह मतृ 堀倅आ 嘀堅ो ंवृंत स ेझड़कर कुसमु

जो ल瀀혂 भलू 娀ਇका नहीं

जो हार दखे झकुा नहीं

िजसन े堀縅णय पाथये माना जीत उसकी ही रही

सच हम नही ंसच तमु नहीं

ऐसा करो िजसस ेन 堀縅ाणो ंम开뼄 कही ंजड़ता रहे

जो ह ैजहा ँचपुचाप अपन­ेआप स ेलड़ता रहे

जो भी प嘁뀅रἂ뀅�थितया ँिमल ेकाटँ ेचभु,े किलया ँἂ뀅खले

हारे नही ंइसंान, सदंशे जीवन का यही

सच हम नही ंसच तमु नही।ं।

 

जीवन का सदंशे 騆ा ह ै?

इसंान को हारना नही ंचािहए

इसंान को हारकर बठै जाना चािहए

इसंान को पीछे हट जाना चािहए

इनम开뼄 स ेकोई नहीं

Correct Answer :­इसंान को हारना नही ंचािहए 

10)

Question Stimulus :­

िन圀�िलἂ뀅खत का嘁뀅ाशं को 嬀✇ानपवू넀琉क पढ़कर उसके नीच ेिदय ेगय ेब堀倅िवक�ी 堀縅� नो ंम开뼄 सही िवक� का चयन कर开뼄।

 

सच हम नही ंसच तमु नहीं

सच ह ैमहज सघंष넀琉 ही



सघंष넀琉 स ेहटकर िजय ेतो 騆ा िजय ेहम या िक तमु

जो नत 堀倅आ वह मतृ 堀倅आ 嘀堅ो ंवृंत स ेझड़कर कुसमु

जो ल瀀혂 भलू 娀ਇका नहीं

जो हार दखे झकुा नहीं

िजसन े堀縅णय पाथये माना जीत उसकी ही रही

सच हम नही ंसच तमु नहीं

ऐसा करो िजसस ेन 堀縅ाणो ंम开뼄 कही ंजड़ता रहे

जो ह ैजहा ँचपुचाप अपन­ेआप स ेलड़ता रहे

जो भी प嘁뀅रἂ뀅�थितया ँिमल ेकाटँ ेचभु,े किलया ँἂ뀅खले

हारे नही ंइसंान, सदंशे जीवन का यही

सच हम नही ंसच तमु नही।ं।

 

‘कुसमु’ का पया넀琉यवाची श� द ह?ै

कमल

पकंज

堀縅सनू

अरिवदं

Correct Answer :­堀縅सनू 

11)

Question Stimulus :­

‘‘अनाचरण’’ श� द म开뼄 कौन­स ेउपसग넀琉 ह最쨅?

अन+्रण

अन+्उप

अन+्आ

अप+आ

Correct Answer :­अन+्आ 

12)



Question Stimulus :­

‘अचकचाहट’ श� द म开뼄 कौन­सा 堀縅㔀쀆य ह?ै

आवट

आहट

हट

अवट

Correct Answer :­आहट 

13)

Question Stimulus :­

‘अवसर का लाभ उठाना’ अथ넀琉 के िलए सही महुावरा होगा­

बहती गगंा म开뼄 हाथ धोना

कफन िसर पर बाधँना

काम तमाम करना

कानाफूसी करना

Correct Answer :­बहती गगंा म开뼄 हाथ धोना 

14)

Question Stimulus :­

िदय ेगय ेवा騆ाशं के िलए एक श� द का 堀縅योग कीिजए­

“प븀옆 या 堀縅� नािद के उ᠀㘆र की अप茀े혂ा करन ेवाला”

उ᠀㘆रीय

उ᠀㘆रायणी

उ᠀㘆रािधकारी

उ᠀㘆राप茀े혂ी

Correct Answer :­उ᠀㘆राप茀े혂ी 

15)

Question Stimulus :­



‘लᤀ괅कीित넀琉’ श� द को 븀眅嘀堅 करन ेवाला वा騆 ह?ै

िजस ेकीित넀琉 का लाभ हो

जो 堀縅िसᘀ㔅 हो

िजस सहज यश 堀縅ाꀎ偐 हो

जो 堀倅ाित अिज넀琉त कर रहा हो

Correct Answer :­जो 堀倅ाित अिज넀琉त कर रहा हो 

16)

Question Stimulus :­

‘चना’ श� द का तꨀ댅म होगा­

च堀倅

चणक

चवण넀琉

च堀倅वाक

Correct Answer :­चणक 

17)

Question Stimulus :­

‘अꨀᨈ븀眅’ का िवलोम पद होगा­

अनꨀᨈास

अनꨀᨈ븀眅

अꨀᨈास

इनम开뼄 स ेकोई नहीं

Correct Answer :­अनꨀᨈ븀眅 

18)

Question Stimulus :­

‘गव넀琉’ का पया넀琉यवाची ह­ै

गभ넀琉



दप넀琉

गवँार

ग堀�ीर

Correct Answer :­दप넀琉 

19)

Question Stimulus :­

‘सदानदं’ म开뼄 सिंध होगी­

⤀䀄र सिंध

嘁뀅जंन सिंध

िवसग넀琉 सिंध

यण सिंध

Correct Answer :­嘁뀅जंन सिंध 

20)

Question Stimulus :­

‘धनःु+टकंार’ का सिंध श� द होगा­

धन嘀ु堅कंार

धनटुकंार

धनशुटकंार

इनम开뼄 स ेकोई नहीं

Correct Answer :­धन嘀ु堅कंार 

21)

Question Stimulus :­

‘वयोवᘀ㔅’ का सिंध िव最촆दे होगा­

वयो+वᘀ㔅

वय+वᘀ㔅



वयह+वᘀ㔅

वयः+वᘀ㔅

Correct Answer :­वयः+वᘀ㔅 

22)

Question Stimulus :­

‘बἂु뀅ᘀ㔅हीन’ श� द म开뼄 समास पहचािनए­

कम넀琉 त븀�娀ुਇष

सबंधं त븀�娀ुਇष

अिधकरण त븀�娀ुਇष

इनम开뼄 स ेकोई नहीं

Correct Answer :­इनम开뼄 स ेकोई नही ं

23)

Question Stimulus :­

‘नीलकमल’ म开뼄 उ᠀㘆र पद ‘कमल ’ ............ ह­ै

िवश嘀े堅

िवशषेण

िवश嘀े堅­िवशषेण

इनम开뼄 स ेकोई नहीं

Correct Answer :­िवश嘀े堅 

24)

Question Stimulus :­

अनकेाथ넀琉क श� द ‘अगं’ के िलय ेिन圀� म开뼄 स ेगलत िवक� का चयन कीिजए­

अवयव

टकुड़ा

शरीर



भा笀帄

Correct Answer :­भा笀帄 

25)

Question Stimulus :­

अनकेाथ넀琉क श� द ‘जलज’ के िलय ेिन圀� म开뼄 स ेगलत िवक� का चयन कीिजए­

कमल

शखं

मछली

कपोत

Correct Answer :­कपोत 

26)

Question Stimulus :­

िन圀� िवक�ो ंम开뼄 स ेएक वा騆 सही ह ैसही वा騆 का चयन कीिजए­

वह सुंदर गणुो ंस ेय堀ु縅 है

वह खबूसरूत गणुो ंस ेय堀ु縅 है

वह अ最촆 ेगणुो ंस ेय堀ु縅 है

इनम开뼄 स ेकोई नहीं

Correct Answer :­वह अ最촆 ेगणुो ंस ेय堀ु縅 ह ै

27)

Question Stimulus :­

िन圀� म开뼄 स ेएक वा騆 गलत ह ैगलत वा騆 का चयन कीिजए­

पढ़ना एक आव� यक काय넀琉 है

ह㔀쀆ारे को म㔀ृ쀆दुडं िमला

श� द सकंेत मा븀옆 है

िशवाजी स ेखबू धाक जमी



Correct Answer :­िशवाजी स ेखबू धाक जमी 

28)

Question Stimulus :­

‘‘प嘁뀅र⤀琅म करके सफलता 堀縅ाꀎ偐 करो’’ म开뼄 वा騆 का 堀縅कार पहचािनए­

सरल वा騆

िम⤀琅 वा騆

सयं堀ु縅 वा騆

इनम开뼄 स ेकोई नहीं

Correct Answer :­सयं堀ु縅 वा騆 

29)

Question Stimulus :­

िन圀� म开뼄 शᘀु㔅 वत넀琉नी पहचािनए­

अव� यकता

अ⨀焄ा茀혂री

भगीरथी

िललाियत

Correct Answer :­अ⨀焄ा茀혂री 

30)

Question Stimulus :­

िन圀� म开뼄 शᘀु㔅 वत넀琉नी पहचािनए­

वाडम्य

समािजक

堀縅ादभुा넀琉व

पाचँवाँ

Correct Answer :­堀縅ादभुा넀琉व 

31)



31)

Question Stimulus :­

‘‘तले दखेो तले की धार दखेो’’ लोकोἂ뀅堀縅 का अथ넀琉 ह­ै

लापरवाही स ेनकुसान होता है

तले की धार दखेकर तले का परी茀혂ण करना

काम करत ेसमय उसकी पहचान करना

븀ꐆख पहचानना

Correct Answer :­븀ꐆख पहचानना 

32)

Question Stimulus :­

"कठोर प嘁뀅र⤀琅म के िबना जीवन म开뼄 सफलता नही ंिमलती" इस सदंशे की 嘁뀅जंक उἂ뀅堀縅 ह­ै

बाल ूस ेतले िनकालना

खोदा पहाड़ िनकली चिुहया

िजन खोजा ितन पाइया गहरे पानी पठै

नौ िदन चल ेअढ़ाई कोस

Correct Answer :­िजन खोजा ितन पाइया गहरे पानी पठै 

33)

Question Stimulus :­

िन圀� अन最ु촆दे का स茀ं혂पेण कीिजए­

‘‘दया का अथ넀琉 ह ैिकसी पीिड़त के दखु को दखेकर िपघल जाना यह हर मानव का सहज गणु ह ैपरमा᠀ᰆा न ेसभी नर­ना嘁뀅रयो ंकी
आखँो ंम开뼄 आसँ ूिदय ेह最쨅, इ븀�ी ंआसँओु ंके बल पर कोई साधारण मन嘀ु堅 दवेता बन जाता ह ैऔर कोई रा茀혂स िपघलकर िफर स ेस堀縅ा
मानव बन जाता ह।ै िजस मन嘀ु堅 म开뼄 िजतनी अिधक दया होती ह ैवह उतना ही कोमल, उदार और प嘀ू堅नीय इसंान बन जाता ह।ै
िजतन ेभी महा᠀ᰆा और नायक होत ेह ैउनम开뼄 यही गणु सबस ेअिधक होता ह।ै सभी धम᠀㘆 न ेदया और क娀ਇणा पर बल िदया ह ै’’

पर उपदशे कुशल ब堀倅तरेे

दया धम넀琉 का मलू है

जहा ँचाह वहा ँराह

इनम开뼄 स ेकोई नहीं



Correct Answer :­दया धम넀琉 का मलू ह ै

34)

Question Stimulus :­

िन圀� पहलेी के सही उ᠀㘆र का चयन कीिजए­

ना राजा के राज मा, ना माली के बाग मा।

फोड़ ेम开뼄 गठुली नही,ं खाय ेमा ⤀䀄ाद नही।ं।

ओला

ना嘁뀅रयल

आग

धआुँ

Correct Answer :­ओला 

35)

Question Stimulus :­

िकस रस म开뼄 सभी सचंारी भावो ंको आ᠀ᰆसात करन ेका साम넀琉Ḁ㔅 होती ह­ै

वाꨀ댅꤀씆 रस

शातं रस

भयानक रस

⤀琅ृंगार रस

Correct Answer :­⤀琅ृंगार रस 

36)

Question Stimulus :­

‘‘......... छः चरण वाला िवषम माि븀옆क छंद ह ैइसके 堀縅थम चार चरण रोला छंद के और अिंतम दो चरण उꄀाला छंद के होत ेह ै’’­
प嘁뀅रभाषा िकस छंद की ह?ै

गीितका

ह嘁뀅रगीितका

सोरठा



छ븀찆य

Correct Answer :­छ븀찆य 

37)

Question Stimulus :­

िन圀� पἂं뀅堀縅 म开뼄 छंद पहचािनए­

‘‘सौरज धीरज सिेह रथ चाका, स㔀쀆 शील 븀옆ढ़ 븀眅जा पताका।

बल िववके दम परिहत घोरे, छमा कृपा समता रज ुजोरे ॥’’

चौपाई

छ븀찆य

किव᠀㘆

उपजाित

Correct Answer :­चौपाई 

38)

Question Stimulus :­

िन圀� पἂं뀅堀縅यो ंम开뼄 कौन सा अलकंार होगा ?

‘‘जो रहीम गित दीप की, कुल कपतू की सोय।

बारे उिजयारे करे, बढ़ ेअधंरेो होय।। ’’

अन堀ु縅ास अलकंार

यमक अलकंार

� लषे अलकंार

उपमा अलकंार

Correct Answer :­� लषे अलकंार 

39)

Question Stimulus :­

म.堀縅. का 堀縅थम समाचार प븀옆 कौन­सा ह ै?

भोपाल अखबार



웿㤃ािलयर अखबार

इदंौर अखबार

इनम开뼄 स ेकोई नहीं

Correct Answer :­웿㤃ािलयर अखबार 

40)

Question Stimulus :­

‘मा嬀✇म’ नामक स�ंथा का गठन कब िकया गया ?

1985

1990

1880

1997

Correct Answer :­1985 

41)

Question Stimulus :­

िन圀� िलἂ뀅खत 6 वा騆ाशो ंम开뼄 स े堀縅थम व अिंतम िनि崁뀅त ह最쨅, शषे को उिचत 堀倅म म开뼄 嘁뀅वἂ뀅�थत कीिजए।

(1) िहदंी का साव넀琉दिेशक

(य) 娀ਇप होन ेपर और उसम开뼄

(र) हो जान ेपर, उसके श� द लािल㔀쀆 और

(ल) अथ넀琉 सौ᠀㘆व म开뼄 भरपरू

(व) भारतीय स븀ंृ眅ित के सभी अगंो ंका समावशे

(6) वἂृ뀅ᘀ㔅 होगी

य ल व र

र य व ल

य व ल र

य व र ल



Correct Answer :­य व र ल 

42)

Question Stimulus :­

िन圀� िलἂ뀅खत 6 वा騆ाशो ंम开뼄 स े堀縅थम व अिंतम िनि崁뀅त ह最쨅, शषे को उिचत 堀倅म म开뼄 嘁뀅वἂ뀅�थत कीिजए।

(1) छा븀옆ावास नवीन व茀ृ혂 की वह कोमल

(य) मोड़ा जा सकता है

(र) िजस ेअपनी मनचाही अव�था म开뼄 सरलता से

(ल) और एक बार िजधर आप मोड़ द开뼄गे

(व) और मदृ ुशाखा है

(6) जीवन भर उधर ही रहगेी

ल य र व

व र य ल

य र ल व

व य र ल

Correct Answer :­व र य ल 

43)

Question Stimulus :­

‘Agenda’ शꨀ帅 का सही िहदंी पया넀琉य ह­ै

काय넀琉व᠀㘆

काय넀琉सचूी

काय넀琉कारी

काय넀琉काल

Correct Answer :­काय넀琉सचूी 

44)

Question Stimulus :­

‘Honorarium’ शꨀ帅 का अथ넀琉 ह­ै



पा嘁뀅र⤀琅िमक

मानदये

भगुतान

वतेन ἂ뀅�थरीकरण

Correct Answer :­मानदये 

45)

Question Stimulus :­

वा騆 के अशᘀु㔅 भाग का चयन कीिजए­

अब वह पौधा

बड़ा िवशाल व茀혂

बन गया है

कोई 븀옆िुट नहीं

Correct Answer :­बड़ा िवशाल व茀혂 

46)

Question Stimulus :­

दो अपरिचतो ंके आपसी प븀옆 � यवहार म开뼄 � विनद最쨅शन होगा­

स堀縅मे नम� ते

भवदीय

ि堀縅य महोदय

इनम开뼄 स ेकोई नहीं

Correct Answer :­भवदीय 

47)

Question Stimulus :­

ग娀ुਇ के 嬀✇ारा िश� य को प븀옆 म开뼄 अिभवादन होगा­

शभुाशीष



चरण � पश넀琉

堀縅णाम

ि堀縅य महोदय

Correct Answer :­शभुाशीष 

48)

Question Stimulus :­

CANCELLED

“िम܉䈀ी की बारात” रचना के रचनाकार का नाम चिुनए­

भारत भषूण

ि븀옆लोचन

ह嘁뀅रनारायण � यास

राधाकृ� ण दास

Correct Answer :­ि븀옆लोचन 

49)

Question Stimulus :­

िन� न म开뼄 स ेकौन सी रचना “धम넀琉वीर भारती” की ह?ै

सशंय की एक रात

अधंायगु

च堀倅� यहू

आगँन के पार

Correct Answer :­अधंायगु 

50)

Question Stimulus :­

इनम开뼄 स ेअᘀ㔅넀琉 िवराम का िच븀� कौन सा ह?ै

।

;



,

­

Correct Answer :­; 

51)

Question Stimulus :­

एक ही वा騆 म开뼄 जब एक स ेअिधक उपवा騆 शꨀ帅 तथा वा騆ाशं समान 娀ਇप म开뼄 堀縅य堀ु縅 होत ेह最쨅, तब िकस िवराम िच븀� का 堀縅योग
िकया जाता ह?ै

अ� िवराम

पणू넀琉 िवराम

िनद最쨅शक िवराम

अᘀ㔅넀琉 िवराम

Correct Answer :­अ� िवराम 

52)

Question Stimulus :­

“तीन­तरेह होना” महुावरे का सही अथ넀琉 ह­ै

िकसी बात को तलू दनेा

堀縅भाव जमाना

सगंिठत होना

िततर­िवतर होना

Correct Answer :­िततर­िवतर होना 

53)

Question Stimulus :­

“िचराग म开뼄 िचराग जलाना” लोकोἂ뀅堀縅 का सही अथ넀琉 ह­ै

उꨀ댅व मनाना

एक लाभ स ेदूसरा लाभ होना

एक स ेदूसरे का काम बनना



इनम开뼄 स ेकोई नही।ं

Correct Answer :­एक लाभ स ेदूसरा लाभ होना 

54)

Question Stimulus :­

‘ꄀ댅‘ वण넀琉 िकन वण᠀㘆 के सहयोग स ेबना ह?ै

ज + ञ

ज ्+ ञ

ज + ध

ज + 븀锇

Correct Answer :­ज ्+ ञ 

55)

Question Stimulus :­

‘ए’ और ‘ऐ’ का उ堀縅ारण �थान ह­ै

कبج�脀

क젆ोبج�脀

कبج�脀­ताल嘁뀅

ओبج�脀

Correct Answer :­कبج�脀­ताल嘁뀅 

56)

Question Stimulus :­

वा豈 य के आव� यक त� व िकतन ेह最쨅?

चार

छ:

तीन

पाचं



Correct Answer :­छ: 

57)

Question Stimulus :­

िन圀� शꨀ帅­यᰀु밂 के िवक�ो ंम开뼄 स ेसही अथ넀琉­भदे का चयन कीिजए­

‘असन­आसሀ’

सीट­भोजन

व냿眅­भोजन

भोजन­िनकट

आसान­आराम

Correct Answer :­भोजन­िनकट 

58)

Question Stimulus :­

िन圀� शꨀ帅 यᰀु밂 के िवक�ो ंम开뼄 कोई एक िवक� सही नही ंह।ै गलत यᰀु밂 का चयन कीिजए­

堀縅था­पथृा

पाठ­पाट

बिद­बदी

堀縅ाꀎ偐­पाना

Correct Answer :­堀縅ाꀎ偐­पाना 

59)

Question Stimulus :­

सरुिभ, सौरभ, सवुास य ेिकसके पया넀琉यवाची ह最쨅­

सनुीित

सगु븀᠆

娀ਇपसी

मकुुर



Correct Answer :­सगु븀᠆ 

60)

Question Stimulus :­

‘अचते’ का िवलोम ह­ै

बसेधु

बखेबर

गािफ़ल

इनम开뼄 स ेकोई नहीं

Correct Answer :­इनम开뼄 स ेकोई नही ं

61)

Question Stimulus :­

िन圀� म开뼄 स ेतꨀ댅म चिुनए­

रािश

रास

रात

राह

Correct Answer :­रािश 

62)

Question Stimulus :­

ओज गणु स ेप嘁뀅रपणू넀琉 रस का नाम 豈 या ह?ै

शातं रस

वीर रस

⤀琅ृंगार रस

इनम开뼄 स ेकोई नहीं

Correct Answer :­वीर रस 



63)

Question Stimulus :­

उपमा अलकंार के भदे ह最쨅­

पणू뀅पमा अलकंार

ल�ु तोपमा अलकंार

उपरो堀縅 दोनों

इनम开뼄 स ेकोई नहीं

Correct Answer :­उपरो堀縅 दोनो ं

64)

Question Stimulus :­

‘堀縅ꄀ댅’ म开뼄 उपसग넀琉 ह­ै

परा

堀縅

प嘁뀅र

堀縅ा

Correct Answer :­堀縅 

65)

Question Stimulus :­

‘महा� मा’ म开뼄 समास ह­ै

त� प븀ुꐆष

कम넀琉धारय

ब堀倅ꨀ糖ीिह

ि嬀✇गु

Correct Answer :­कम넀琉धारय 

66)

Question Stimulus :­



िन圀� म开뼄 स ेिकस शꨀ帅 म开뼄 ‘इश’ 堀縅㔀쀆य नही ंह?ै

नािलश

बिंदश

सािजश

िशफा嘁뀅रश

Correct Answer :­िशफा嘁뀅रश 

67)

Question Stimulus :­

एक थाल मोती स ेभरा, सबके सर पर औधंा धरा,

चारो ंओर वह थाली िफरे, मोती उसस ेएक न िगरे।

 

उपरो堀縅 पहलेी के िलए लखेक चिुनय?े

मिलक मोहꀀ밂द जायसी

नरूनामा

जटमल

अमीर खसुरो

Correct Answer :­अमीर खसुरो 

68)

Question Stimulus :­

नौवा ँिव᠀㘆 िह븀댆ी सꀀ밂लेन कब 堀倅आ?

2003

2007

2012

2016

Correct Answer :­2012 

69)



Question Stimulus :­

िन圀� म开뼄 स ेकौन­सी रचना अवधी नही ंह?ै

प鼀ꘅावत

मधमुालती

किवतावली

हसंजवािहर

Correct Answer :­किवतावली 

70)

Question Stimulus :­

खड़ी बोली का 堀縅योग सव넀琉堀縅थम िकस प븀ु眅क म开뼄 堀倅आ?

भἂ뀅堀縅सागर

सखुसागर

का嘁뀅सागर

堀縅मेसागर

Correct Answer :­堀縅मेसागर 

Topic:­ General Knowledge 
1)

Question Stimulus :­

In which State was Krishnapatnam Port constructed? / िकस रा嘀堅 म开뼄 कृ᠀㘆ाप᠀㘆नम पोट넀琉 का िनमा넀琉ण िकया गया था?

Odisha / उड़ीसा

Karnataka / कना넀琉टक

Kerala / केरल

Andhra Pradesh / आꨀं댅堀縅दशे

Correct Answer :­Andhra Pradesh / आꨀं댅堀縅दशे 

2)

Question Stimulus :­



Match the following and select the correct answer from the codes given below: / नीच ेिदए गए
कूटो ंके आधार पर सही उ᠀㘆र का चयन कर开뼄 एव ंिमलाएँ:

    List­I                     List­II

1.Karnataka                   a. Mumbai

2.Tamil Nadu                  b. Thiruvananthapuram

3.Kerala                         c. Chennai

4.Maharashtra                d. Bangalore

    सिूच­I                     सिूच­II

1.कना넀琉टक                         a. मुंबई

2.तिमलनाड ु                      b. ित븀ꐆवनतंपरुम

3.केरल                           c. चሀेई

4.महारा嘀堅最紆                       d. ब最쨅गलोर

1­d, 2­c, 3­b, 4­a

1­d, 2­c, 3­a, 4­b

1­c, 2­d, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

The earth, while rotating around the sun, always keeps its axis pointed towards which one of the following? / सयू넀琉 के
चारो ंओर घमूत े堀倅ए प嬀ृ攄ी अपनी धरुी िन圀� म开뼄 स ेिकस एक की तरफ़ रखती ह?ै

The Earth /  प嬀ृ攄ी की तरफ़

The Moon / च븀옆मा की तरफ़

The Pole Star / ꨀ댅वुीय तारो ंकी तरफ़

The Saturn / शिन 礀밂ह की तरफ़

Correct Answer :­The Pole Star / ꨀ댅वुीय तारो ंकी तरफ़ 

4)



Question Stimulus :­

What is the study of birds known as?/ पि茀혂यो ंके अ嬀✇यन को िकस नाम स ेजाना जाता ह?ै

Ornithology/ प茀혂ीिवꄀ댅ान

Ecology/ प嘁뀅रἂ뀅�थितिवꄀ댅ान

Entomology/ कीटिवꄀ댅ान

Petrology/ शलैिवꄀ댅ान

Correct Answer :­Ornithology/ प茀혂ीिवꄀ댅ान 

5)

Question Stimulus :­

The first Human heart transplant operation, done by Dr. Christian Bernard on Louis
Washkansky, was conducted in which year?

डॉ ि堀倅ἂ뀅堀倅यन बनेा넀琉ड넀琉 嬀✇ारा लइूस वाशखन븀眅ी पर 堀縅थम मानवी 븀眅दय ट最紆ा�ं⤀䈇ाटं श꤀씆 – िचिकꨀ댅ा िकस वष넀琉 की गयी थी?

1968

1958

1960

1967

Correct Answer :­1967 

6)

Question Stimulus :­

The distance between Earth and Sun is greatest during ______. / प嬀ृ攄ी और सयू넀琉 के बीच की दूरी _________ के
दौरान सबस ेबड़ा होता ह|ै

Summer Solstice / 礀밂ी嘀堅कालीन स堀ं倅ािंत

Winter Solstice / शीतकालीन स堀ं倅ािंत

Aphelion / न茀혂븀옆

Perihelion / सयू넀琉 समीपक

Correct Answer :­Aphelion / न茀혂븀옆 



7)

Question Stimulus :­

Which of the following states is not on the border of Bihar? / िन圀� म开뼄 स ेकौन सा रा嘀堅 िबहार की सीमा पर नही ंह?ै

West Bengal / पि崁뀅म बगंाल

Jharkhand / झारखȈ

Uttar Pradesh / उ᠀㘆र 堀縅दशे

Meghalaya / मघेालय

Correct Answer :­Meghalaya / मघेालय 

8)

Question Stimulus :­

The Historic Chandragiri Fort is situated in which State?/

च븀ं옆िग嘁뀅र का एितहािसक िक़ला िकस रा嘀堅 म开뼄 ἂ뀅�थत ह?ै

Andhra Pradesh / आꨀँ댅 堀縅दशे

Tamil Nadu / तिमल नाडु

Jharkhand / झारखडं

Maharashtra / महारा嘀堅最紆

Correct Answer :­Andhra Pradesh / आꨀँ댅 堀縅दशे 

9)

Question Stimulus :­

Which of the following cows gives maximum yield of milk? / िन圀�िलἂ뀅खत गायो ंम开뼄 स ेकौन दूध की अिधकतम 堀縅ाἂ뀅ꀎ偐 दतेी
ह?ै

Jersey / जस笀帄

Holstein / होᨁ뀅टीन

Sahiwal / सािहवाल

Red Sindhi / लाल िस븀᠆ी



Correct Answer :­Holstein / होᨁ뀅टीन 

10)

Question Stimulus :­

Which of the following is a landlocked State?/ िन圀� म开뼄 स ेकौनसा रा嘀堅 जमीनबदं ह?ै

Kerala / केरला

Tamil Nadu / तिमलनाडु

Odisha / ओिडसा

Haryana / ह嘁뀅रयाणा

Correct Answer :­Haryana / ह嘁뀅रयाणा 

11)

Question Stimulus :­

Find the odd one out  / िवषम का चनुाव क嘁뀅रये

Kolkata / कोलक᠀㘆ा

Chandigarh / चिंदगढ़ चडंीगढ़

Kohima / कोिहमा

Telangana / तलेगंाना

Correct Answer :­Telangana / तलेगंाना 

12)

Question Stimulus :­

Which of the following state is border of Maharashtra? / िन圀� म开뼄 स ेकौन सा रा嘀堅 महारा嘀堅最紆 की सीमा ह?ै

Gujarat / गजुरात

Rajasthan / राज�थान

Tamil Nadu / तिमलनाडु

Kerala / केरल

Correct Answer :­Gujarat / गजुरात 



13)

Question Stimulus :­

Which is the oldest National Park in India?/ भारत म开뼄 सबस ेपरुाना रा嘀堅最紆ीय उ倁偐ान कौन सा ह?ै

Kanha National Park/ का븀�ा रा嘀堅最紆ीय उ倁偐ान

Gir National Park/ िगर व븀锇जीव अꨀᨈार쌇

Jim Corbett National Park / िजम कॉब最쨅ट रा嘀堅最紆ीय उ倁偐ान

Kaziranga National Park/ काज़ीरंगा रा嘀堅最紆ीय उ倁偐ान

Correct Answer :­Jim Corbett National Park / िजम कॉब最쨅ट रा嘀堅最紆ीय उ倁偐ान 

14)

Question Stimulus :­

Find the odd one out / िवषम का चनुाव क嘁뀅रये

Tajikistan/तािजिक븀眅ान

Turkmenistan/ तकु넀琉मिेन븀眅ान

Washington / वािशगंटन

Kyrgyzstan/िकिग넀琉븀眅ान

Correct Answer :­Washington / वािशगंटन 

15)

Question Stimulus :­

Which among the following is the smallest ocean of the world? / िन圀�िलἂ뀅खत म开뼄 स ेकौन िव᠀㘆 का सबस ेछोटा महासागर ह?ै

Pacific / 堀縅शातं

Indian / िह븀댆

Altantic / अटलािंटक

Arctic / आक넀琉िटक

Correct Answer :­Arctic / आक넀琉िटक 

16)



Question Stimulus :­

Which of the following Indian wicketkeepers holds the record for most dismissals in ODIs?/ एकिदवसीय मचैो ंम开뼄 सबसे
嘀堅ादा आउट करन ेवाला भारत का 嘁뀅रकॉड넀琉 िकस िवकेटकीपर के नाम ह?ै

Rahul Dravid/ रा堀倅ल 븀옆िवड़

Kiran More/ िकरण मोरे

Syed Kirmani/ सḀै㔅द िकरमानी

M.S. Dhoni/ एम.एस. धोनी

Correct Answer :­M.S. Dhoni/ एम.एस. धोनी 

17)

Question Stimulus :­

Tiger Woods is related to _______ / टाइगर वडूस िन圀� म开뼄 िकसस ेसबंिंधत ह最쨅?

Football / फ़ूटबॉल

Tennis / टनेीस

Golf / गो�

Chess / चसे

Correct Answer :­Golf / गो� 

18)

Question Stimulus :­

Silly point is related to which game? / ‘िसली पॉइटं’ िकस खले स ेसबंिंधत ह?ै

Football / फुटबॉल

Hockey / हॉकी

Cricket / ि堀倅केट

Wrestling / रेἂ뀅吀倅गं

Correct Answer :­Cricket / ि堀倅केट 

19)

Question Stimulus :­



Who won the Commonwealth Chess Championship 2016? / रा嘀堅最紆मडंल शतरंज चἂै뀅ꨀयनिशप 2016 िकसन ेजीती

Abhijeet Gupta / अिभजीत गꀎु偐ा

S L Narayanan / एस एल नारायणन

Deep Chakkravarthy / दीप च堀倅वत笀帄

Meenal Gupta / मीनल गꀎु偐ा

Correct Answer :­Abhijeet Gupta / अिभजीत गꀎु偐ा 

20)

Question Stimulus :­

The British Formula One Racing Driver Lewis Hamilton is currently racing for________. / िꨀ糖िटश फ़ॉम넀ू琉ला वन रेिसगं
ड最紆ाइवर लईुस हिैमꨀ숅न वत넀琉मान म开뼄 ________ के िलए रेिसगं करत ेह最쨅।

Mercedes / मिस넀琉डीज़

Felipe Messa / फेिलप मसेा

Ferrari / फरारी

Red Bull / रेड बलु

Correct Answer :­Mercedes / मिस넀琉डीज़ 

21)

Question Stimulus :­

Who is the founder of Cafe Coffee Day? / कैफ़े कॉफ़ी ड ेके स�ंथापक कौन ह最쨅?

Chirag Kulkarni / िचराग कुलकण笀帄

V G Siddharth / वी जी िसᘀ㔅ाथ넀琉

Anil Agarwal / अिनल अ礀밂वाल

Gautam Thapar / गौतम थापर

Correct Answer :­V G Siddharth / वी जी िसᘀ㔅ाथ넀琉 

22)

Question Stimulus :­

Find the odd one out / बजेोड़ ढूढ़ँकर िनकालो



Linkedin.com / िलἂं뀅豈डन डॉट कॉम

Snapdeal.com / 堀倅पैडील डॉट कॉम

Jabong.com / जबोगं डॉट कॉम

Amazon.in / अमज़ेन डॉट कॉम

Correct Answer :­Linkedin.com / िलἂं뀅豈डन डॉट कॉम 

23)

Question Stimulus :­

Microsoft India has appointed ______________ as the new President. / माइ堀倅ोसॉᄀ将 इिंडया ने
 ______________  को नए अ嬀✇茀혂 के 娀ਇप म开뼄 िनय堀ु縅 िकया ह।ै

Anant Maheshwari / अनतं मह᠀े㘆री

Kamal Jain / कमल जनै

Bhaskar Pramanik / भा븀眅र 堀縅मािणक

Rishikesh Bose / ऋिषकेश बोस

Correct Answer :­Anant Maheshwari / अनतं मह᠀े㘆री 

24)

Question Stimulus :­

In the budget 2015­16, what is Income tax exception limit? / 2015­16 के बजट म开뼄 आयकर छूट म开뼄 सीमा िकतनी ह?ै

Rs. 1.5 Lakhs / 娀ਇ. 1.5 लाख

Rs. 3.0 Lakhs / 娀ਇ. 3.0  लाख

Rs. 2.5 Lakhs / 娀ਇ. 2.5 लाख

Rs. 4.0 Lakhs / 娀ਇ. 4.0 लाख

Correct Answer :­Rs. 2.5 Lakhs / 娀ਇ. 2.5 लाख 

25)

Question Stimulus :­

Who was the last Governor General of Bengal?/ बगंाल के आिख़री गवन넀琉र जनरल कौन थ?े

Auckland/ ऑकल最쨅ड



Hastings/ हἂे뀅堀倅븀ं⬆

William Bentinck/ िविलयम बἂै뀅洀꼅क

Cornwallis/ कान넀琉वािलस

Correct Answer :­William Bentinck/ िविलयम बἂै뀅洀꼅क 

26)

Question Stimulus :­

Who among the following is known as the ‘Father of History’? / िन圀� म开뼄 स ेकौन ‘इितहास के जनक’के तौर पर जान ेजाते
ह最쨅?

Herodotus / हरैोडोटसु

Alexander Hamilton / एल椀े뀅ज开뼄डर हमैीꨀ숅ोन

Galileo / गलैलेीओ

None of these / उपय넀ु琉堀縅 मेँ स ेकोई नहीँ

Correct Answer :­Herodotus / हरैोडोटसु 

27)

Question Stimulus :­

From which among the following places did Mahatma Gandhi begin his political activities in India/ िन圀� �थानो ंम开뼄 से
कहा ँस ेमहा᠀ᰆा गाधँी न ेभारत म开뼄, अपनी राजिनितक गितिविधयो ंकी श븀ुꐆआत करी

Varanasi / वारानसी

Dandi / दाडंी

Champaran / चꨀारान

None of these / उपय넀ु琉堀縅 म开뼄 स ेकोई नहीँ

Correct Answer :­Champaran / चꨀारान 

28)

Question Stimulus :­

Who was the first person to swim across the English Channel? / वह कौन स े堀縅थम 嘁뀅ἂ뀅堀縅 थ ेिज븀�ोनं ेइἂं뀅⨀焄श चनैल तरैकर
पार िकया?

Captain Matthew Webb / कꀎ偐ान मḀै㔅 ूवबे



Archibald Wavell / आच笀帄बा전 वावले

Bernard Montgomerry / बना넀琉ड넀琉 माटंगोमरेी

Colin Campbell / कॉिलन क最쨅पबले

Correct Answer :­Captain Matthew Webb / कꀎ偐ान मḀै㔅 ूवबे 

29)

Question Stimulus :­

Napoleon Bonaparte was defeated in which famous battle? / िकस 堀縅िसᘀ㔅 यᘀु㔅 म开뼄 नपेोिलयन बोनापाट넀琉 परािजत 堀倅आ था?

Battle of Waterloo  / वाटरल ूका यᘀु㔅

Saxon Wars / स嘀ै堅न यᘀु㔅

Battle of Trsat / ट最紆सटे यᘀु㔅

Battle of Ballon / बलैोन यᘀु㔅

Correct Answer :­Battle of Waterloo  / वाटरल ूका यᘀु㔅 

30)

Question Stimulus :­

The river situated along the border between the USA and Mexico is / अम嘁े뀅रका और मἂे뀅嘀堅को के बीच सीमा पर ἂ뀅�थत
नदी ह:ै

the Colorado / कोलोराडो

the Mississippi / िमिसिस븀찆ी

the Amazon / अमज़ेन

the Rio Grande / 嘁뀅रओ 礀밂ाडंे

Correct Answer :­the Rio Grande / 嘁뀅रओ 礀밂ाडं े

31)

Question Stimulus :­

Who among the following was the second Nobel Prize winner from India? / िन圀� मेँ स ेकौनसा भारतीय दूसरा नोबले
परु븀眅ार िवजतेा ह ै?

Rabindranath Tagore / रवी᠀㘆नाथ टगैोर



Kailash Satyarthi / कैलाश स㔀쀆ाथ笀帄

Amartya Sen /  अमर㔀쀆ा सनै

C. V. Raman / सी वी रमन

Correct Answer :­C. V. Raman / सी वी रमन 

32)

Question Stimulus :­

Whose birthday is celebrated as the “Good Governance Day”? / िकसका जሀ쌆िदन ि堀倅समस पर 'सशुासन िदवस' के 娀ਇप म开뼄
मनाया जा सकता ह?ै

Jawaharlal Nehru / जवाहरलाल नहे븀ꐆ

Atal Bihari Vajpayee / अटल िबहारी वाजपयेी

Indira Gandhi / इिंदरा गाधँी

Manmohan Singh / मनमोहन िसहं

Correct Answer :­Atal Bihari Vajpayee / अटल िबहारी वाजपयेी 

33)

Question Stimulus :­

The oath of office to the Governor is administered by the________. / रा嘀堅पाल को पद की शपथ
________  嬀✇ारा िदलाई जाती ह।ै

Chief justice of India / भारत के म堀ु倅 븀锇ायधीश

President / रा嘀堅最紆पित

Chief justice of high court / उ堀縅 븀锇ायालय के म堀ु倅 븀锇ायाधीश

Speaker of legislative assembly / िवधान सभा के अ嬀✇茀혂

Correct Answer :­Chief justice of high court / उ堀縅 븀锇ायालय के म堀ु倅 븀锇ायाधीश 

34)

Question Stimulus :­

The union government scheme for promotion of Rural Infrastructure is known as ___/
礀밂ामीण बिुनयादी ढाचं ेको बढ़ावा दने ेवाली  क开뼄븀옆 सरकार की योजना को ­­­­­­­­­­­­­­ के 娀ਇप म开뼄 जाना जाता है

Smart City / साफ़­सथुरा शहर



Swachh Bharat Abhiyan / ⤀䀄最촆 भारत अिभयान

Bharat Nirman / भारत िनमा넀琉ण

None of these / उपय넀ु琉堀縅 कोई नहीँ

Correct Answer :­Bharat Nirman / भारत िनमा넀琉ण 

35)

Question Stimulus :­

The vision of “Digital India” is /  “िडजीटल भारत” िकसका सपना है

Governance & services on demand / आव嘀堅कता पर स�चालन सवेा

Digital empowerment of citizens / बडी मा븀옆ा मेँ नाग嘁뀅रय सशἂ뀅堀縅करण

Digital infrastructure as a utility to every citizen / बडी मा븀옆ा मेँ हर एका नाग嘁뀅रक को आधा嘁뀅रक समरचना उपयोिगता
堀縅ाꀎ偐 करवाना

All of the above / उपय넀ु琉堀縅 सभी

Correct Answer :­All of the above / उपय넀ु琉堀縅 सभी 

36)

Question Stimulus :­

In which year was the first English factory set up on the banks of the river Hooghly? / िकस वष넀琉 म开뼄, 堀倅गली नदी के तटो ंपर
दशे का पहला अ礀밂ज़ेी कारखाना �थािपत िकया गया था?

1651

1621

1649

1664

Correct Answer :­1651 

37)

Question Stimulus :­

Between whom was the Treaty Of Salbai signed? / िकनके बीच सालबाई की सिंध पर ह븀眅ा茀혂र 堀倅ए थ?े

Maratha Empire and the British East India Company / मराठा सा樀糖ा嘀堅 और िꨀ糖िटश ई堀倅 इिंडया कंपनी



The British East India Company and Hyder Ali / िꨀ糖िटश ई堀倅 इिंडया कंपनी और हदैर अली

Hyder Ali and Maratha Empire / हदैर अली और मराठा सा樀糖ा嘀堅

Maratha Empire and Nizam Of Hyderabad / मराठा सा樀糖ा嘀堅 और हदैराबाद के िनज़ाम

Correct Answer :­Maratha Empire and the British East India Company / मराठा सा樀糖ा嘀堅 और िꨀ糖िटश ई堀倅 इिंडया
कंपनी 

38)

Question Stimulus :­

Who was the first woman president of Indian National Congress? /

भारतीय रा嘀堅最紆ीय का礀ं밂से की पहली मिहला अ嬀✇茀혂 कौन थी?ं

Indira Gandhi / इिंदरा गाधंी

Annie Besant / एनी बसे开뼄ट

Sarojini Naidu / सरोिजनी नायडू

Sonia Gandhi / सोिनया गाधंी

Correct Answer :­Annie Besant / एनी बसे开뼄ट 

39)

Question Stimulus :­

Who was the last British viceroy of India? /  भारत के आिख़री िꨀ糖िटश वाइसराय कौन थ?े

Lord Wavell / लॉड넀琉 वावले

Indian first foreign satellite to be launched from Sriharikota / भारतीय 堀縅थम िवदशेी उप礀밂ह िजस े⤀琅ीह嘁뀅रकोटा से
堀縅茀혂िेपत िकया जाना है

Lord Mountbatten / लाड넀琉 माउटंबटेन

Lord Linlithgow / लॉड넀琉 िलनिलथगो

Correct Answer :­Lord Mountbatten / लाड넀琉 माउटंबटेन 

40)

Question Stimulus :­

What is the code name of the first Nuclear test of India? भारत के पहल ेपरमाण ुपरी茀혂ण का कोड नाम
騆ा ह?ै

https://en.wikipedia.org/wiki/Indira_Gandhi


Chagai 1­1 / छगाई 1­1

Smiling Buddha / 笀帄ाइिलगं (म븀ुु眅रात े堀倅ए) बᘀु㔅

Project 596 / 堀縅ाज崀े鸇 596

Shakti 1 – 1 /  शἂ뀅堀縅 1 – 1

Correct Answer :­Smiling Buddha / 笀帄ाइिलगं (म븀ुु眅रात े堀倅ए) बᘀु㔅 

41)

Question Stimulus :­

Which among the following is the source of ‘Satyameva Jayate’  / िन圀� म开뼄 स ेकौन ‘स㔀쀆मवे जयत’े
का 냿眅ोत ह?ै

Yajur Veda / यजवु最쨅द

Rig Veda / ऋ웿㤃दे

Mundaka Upnishad / मुंडका उपिनषद

None of these / इनम开뼄 स ेकोई नहीं

Correct Answer :­Mundaka Upnishad / मुंडका उपिनषद 

42)

Question Stimulus :­

Who is the author of the book “Dr. Ambedkar: Life and Mission”? / प븀ु眅क "डॉ अ堀倅डेकर: जीवन और िमशन " के लखेक
कौन ह?ै

Bishwanath Ghosh / िब᠀㘆नाथ घोष

Dhananjay Kheer / धनजंय खीर

Charu Nivedita / चा븀ꐆ िनविेदता

Suresh Menon / सरुेश मनेन

Correct Answer :­Dhananjay Kheer / धनजंय खीर 

43)

Question Stimulus :­

Agmark is a / अगमाक넀琉 है



Co­operative / सहयोगपवू넀琉

Quality guarantee stamp / गणुव᠀㘆ा हामी मोहर

Product / उ븀�ादन

Barcode /  बारकोड

Correct Answer :­Quality guarantee stamp / गणुव᠀㘆ा हामी मोहर 

44)

Question Stimulus :­

Who was recently appointed as the CEO of UIDAI (Aadhar)? / यआूइडीएआर (आधार) का नविनय豈ु त
म�ु य काय넀琉कारी अिधकारी (CEO) कौन ह?ै

Ajay Bhushan Pandey / अजय भषूण पाडंये

Arvind Subramanian / अरिवदं सꨀु糖म� यम

Amitabh Kant / अिमताभ कातं

Nandan Nilekani / नदंन नीलकेनी

Correct Answer :­Ajay Bhushan Pandey / अजय भषूण पाडंये 

45)

Question Stimulus :­

Who took over as the Chief Minister of Gujarat in August, 2016? / 2016 म开뼄 गजुरात का मखुय्म븀ं옆ी कौन बना?

Nitin Patel / िनितन पटले

Anandiben Patel / आनदंी बने पटले

Vijay Rupani / िवजय 娀ਇपानी

Saurabh Patel / सौरभ पटले

Correct Answer :­Vijay Rupani / िवजय 娀ਇपानी 

46)

Question Stimulus :­

International yoga day is celebrated on? / अतंरा넀琉嘀堅最紆ीय योग िदवस कब मनाया जाता ह?ै

June 18th / जनू 18



June 21st / जनू 21

June 25th / जनू 25

June 29th / जनू 29

Correct Answer :­June 21st / जनू 21 

47)

Question Stimulus :­

SAARC Human Resource Development Centre located at___________. / साक넀琉 मानव ससंाधन िवकास क开뼄븀옆 ___________ म开뼄
ἂ뀅�थत ह।ै

New Delhi  / नई िदꄀी

Colombo / कोलबंो

Islamabad  / इ吀倅ामाबाद

Dhaka / ढाका

Correct Answer :­Islamabad  / इ吀倅ामाबाद 

48)

Question Stimulus :­

Official language of Madhya Pradesh is / म嬀✇ 堀縅दशे की आिधका嘁뀅रक भाषा है

Bundeli / बुंदलेी

Malwi / मालवी

Hindi / िह븀댆ी

Nimari  / िनमाड़ी

Correct Answer :­Hindi / िह븀댆ी 

49)

Question Stimulus :­

Bauxite is mined in large quantities at / ­­­­­­­­­­­­­­­  म开뼄 बा嘀堅ाइट का बड़ी मा븀옆ा म开뼄 खनन िकया जाता है

Panna Mines / पሀा खदान म开뼄

Katni Mines / कटनी  खदान म开뼄



Durg Mines / दगु넀琉 खदान म开뼄

Baster Mines /  ब븀眅र खदान म开뼄

Correct Answer :­Katni Mines / कटनी  खदान म开뼄 

50)

Question Stimulus :­

The First Mega Food Park in Madhya Pradesh, was inaugurated on 12th  February, 2016 at
________. / म嬀✇ 堀縅दशे म开뼄 堀縅थम मगेा फूड पाक넀琉, ________ म开뼄 12 वी ंफरवरी, 2016 को उद्घािटत िकया गया।

Khargone / खरगोन

Jabalpur / जबलपरु

Dewas / दवेास

Datia / दितया

Correct Answer :­Khargone / खरगोन 

51)

Question Stimulus :­

Which of the following points lie on the Y­axis? / Y­अ茀혂 पर िन圀� म开뼄 स ेकौन स ेिबदं ुἂ뀅�थत ह最쨅?

(4, ­ 6)

(5, 0)

(­1, ­6)

(0, 5)

Correct Answer :­(0, 5) 

52)

Question Stimulus :­

Find the value of ( ­18÷18) + (25 ÷ ­ 25). / ( ­18÷18) + (25 ÷ ­ 25)  का मान िनकािलए।

­1

0

­2



1

Correct Answer :­­2 

53)

Question Stimulus :­

Four times a number increased by twelve is equal to thirty less than seven times the
number. This can be solved using  _____________  option listed below. / बारह जोड़कर स堀ं倅ा
का चार गनुा स堀ं倅ा का सात गनुा स ेतीस घटान ेके बराबर ह।ै यह नीच ेिदय ेगय े____________िवक� का 堀縅योग करके
हल िकया जा सकता ह।ै

4 a + 12 = 7 a ­ 30

4 a – 12 = 7a + 30

4 a – 30 = 7a + 12

4 a + 30 = 7 a ­ 12

Correct Answer :­4 a + 12 = 7 a ­ 30 

54)

Question Stimulus :­

If the perimeter of a square is 64 meter, what is its area? / यिद वग넀琉 का प嘁뀅रमाप 64 मी ह,ै तो उसका 茀혂븀े옆फल 騆ा
ह?ै

256m / 256 मी

256m2 / 256 मी2

128m2 / 128 मी2

32 m2 / 32 मी2

Correct Answer :­256m2 / 256 मी2 

55)

Question Stimulus :­

CANCELLED



 The value of the letters in the division process is _______________________ and quotient is _______________ /
िवभाजन 堀縅ि堀倅या म开뼄 अ茀혂रो ंका मान ह_ै________________और भागफल ह_ै_____________

(A­5,B­8) (D­4,E­5) (F­6) (G­3,H­6)  [ C­4]

(A­8, B­5) (D­5, E­4) (F­6) (G­3,H­6)  [C­4]

(A­8, B­5) (D­4, E­5) (F­6) (G­6,H­3)  [C­4]

(A­8, B­5) (D­4, E­5) (F­6) (G­3,H­6)  [C­4]

Correct Answer :­(A­8, B­5) (D­4, E­5) (F­6) (G­3,H­6)  [C­4] 

56)

Question Stimulus :­

An Octagon has ____ sides. (Choose the correct one & fill up the blanks) / एक अ嘀堅भजु की____भजुाय开뼄 होती ह最쨅। (
सही िवक� चिुनय ेऔर 嘁뀅र堀縅 �थान भ嘁뀅रय)े

8

9

6

7

Correct Answer :­8 

57)

Question Stimulus :­

Which is a Pyramid among the following? / िन圀� म开뼄 स ेकौन िपरािमड ह?ै



Correct Answer :­  

58)

Question Stimulus :­

The batsman converted 60% of the free hit into sixers in the ICC T20.  With this trend the
probability of the batsman missing two sixers in a row is __________________ / बꄀबेाज न开뼄
ICC T20 म开뼄 60 堀縅ितशत 븀䈆ी िहट छ्娀褅ो ंम开뼄 बदल िदय।े इस 堀縅विृ᠀㘆 स,े एक पἂं뀅堀縅 म开뼄 बꄀबेाज स ेदो छ्娀褅 छूट जान ेकी
堀縅ाियकता है

3/5

12/10

2/15

9/25

Correct Answer :­9/25 

59)

Question Stimulus :­

What is the upper class limit of 9.5 ­  11.5? / 9.5 ­  11.5 की ऊपरी वग넀琉 सीमा 騆ा ह?ै

10.5

9.5



11

11.5

Correct Answer :­11.5 

60)

Question Stimulus :­

Which of the following is a trinomial? / िन圀� म开뼄 स ेि븀옆पदी कौन सा ह?ै

p 2 q5   r 3

p 2 q5   r 3 +p 7 q5   r 3_ p 2 q3 r 2 +p 2 q2 r3

9x2+ y z 2 q5 r 3

x 2 y5 + 9x2 + 5y z 2

Correct Answer :­x 2 y5 + 9x2 + 5y z 2 

61)

Question Stimulus :­

The famous equation E = m c2 was given by / 堀縅िसᘀ㔅 समीकरण E = m c2 िकसके 嬀✇ारा िदया गया था

Neils Bohr / नीᨁ뀅 बोर

Rutherford / रदरफोड넀琉

J J Thomson / ज ेज ेथॉमसन

Einstein / आइ堀ं倅ाइन

Correct Answer :­Einstein / आइ堀ं倅ाइन 

62)

Question Stimulus :­

Ions differ from their corresponding atoms in / म开뼄 आयन अपन ेपरमाणओु ंस ेअलग होत ेह最쨅।

The number of protons / 堀縅ोटॉनो ंकी स堀ं倅ा

The number of electrons /  इल崀े鸇最紆ॉनो ंकी स堀ं倅ा

The number of nucleons / 븀锇ἂु뀅甀툂योन की स堀ं倅ा



The number of neutrons / 븀锇टू最紆ॉन की स堀ं倅ा

Correct Answer :­The number of electrons /  इल崀े鸇最紆ॉनो ंकी स堀ं倅ा 

63)

Question Stimulus :­

The speed of light in vacuum = 3  108 ms­1 and refractive index of water = 4/3.  The
speed of light in water is / िनवा넀琉त म开뼄 ,  堀縅काश की गित 3 × 108 ms­1 और पानी का अपवत넀琉नाकं  4/3 ह।ै
पानी म开뼄 堀縅काश की गित होगी

3  108 ms­1

 108 ms­1

 108 ms­1

2.25  108 ms­1

Correct Answer :­2.25  108 ms­1 

64)

Question Stimulus :­

Which of the following statements regarding force is INCORRECT ? / िन圀� म开뼄 स ेकौन स ेकथन बल
के िवषय म开뼄 अस㔀쀆 ह最쨅?

A force ac㌲Ёng on an object may change its shape / एक व븀眅 ुपर काय넀琉 कर रहा बल उसका आकार प嘁뀅रवित넀琉त कर
सकता है

A force acting on an object  may change both its speed and direction of motion / एक व븀眅 ुपर काय넀琉 कर रहा बल
उसका वगे एव ंगित की िदशा दोनो ंप嘁뀅रवित넀琉त कर सकता है

A force ac㌲Ёng on a body need not change its speed / एक व븀眅 ुपर काय넀琉 कर रहा बल उसका वगे नही ंप嘁뀅रवित넀琉त करता

A body can exert force on another body  only if they are in contact / एक व븀眅 ुदूसरी व븀眅 ुपर बल तभी डाल
सकता ह ैकेवल यिद व ेसपंक넀琉 म开뼄 ह最쨅

Correct Answer :­A body can exert force on another body  only if they are in contact / एक व븀眅 ुदूसरी व븀眅 ुपर
बल तभी डाल सकता ह ैकेवल यिद व ेसपंक넀琉 म开뼄 ह最쨅 

65)

Question Stimulus :­

We cannot see through some materials, such materials are called / हम कुछ पदाथ᠀㘆 के मा嬀✇म स ेनही ंदखे
सकत,े य ेपदाथ넀琉 कहलात ेह最쨅



Transparent / पारदश笀帄

Translucent / पारभासी

Opaque / अपारदश笀帄

Opulent / भरे 堀倅ए

Correct Answer :­Opaque / अपारदश笀帄 

66)

Question Stimulus :­

The different stages of coal formation yield four useful products. Identify the  one which
does not belong to the group. / कोयला िनमा넀琉ण के िविभሀ चरण चार उपयोगी उ븀�ादो ंको दते ेह最쨅। इनम开뼄 स ेएक को
पहचािनए जो समहू का नही ंह।ै

Anthracite / ए�ꨀ댅सेाइट

Peat / पीट

Haeme㌲Ёte / हमेाटाइट

Bitumen / िबटूमने

Correct Answer :­Haeme㌲Ёte / हमेाटाइट 

67)

Question Stimulus :­

One of the fuels that leave a residue upon burning is / िन� न म开뼄 स ेिकस ईधंन के जलन ेके बाद अवशषे बचत ेह最쨅?

Biogas / जवैगसै

Wood / लकड़ी

Kerosene / केरोिसन

L.P.G / एल.पी.जी.

Correct Answer :­Wood / लकड़ी 

68)

Question Stimulus :­

What kind of plants has thick fleshy, succulent, green stems with reduced leaves? / िकस 堀縅कार के पौधो ंम开뼄 मोटी
मासंल, रसभरी, कम पि᠀㘆या ंऔर हरे तन开뼄 होत ेह最쨅?



Xerophytes / म븀ꐆदिभद

Mesophytes / समोदिभद

Hydrophytes / जलोिदभद

Epiphytes / अिधपादप

Correct Answer :­Xerophytes / म븀ꐆदिभद 

69)

Question Stimulus :­

The technique that was  used for the first time to separate plant pigments is
_______________ /  तकनीक िजसका 堀縅योगवन븀眅ित वण넀琉को ंको अलग करन ेके िलए पहली बार िकया गया था, है
______________

Crystallography / ि堀倅堀倅लो礀밂ाफी

Chromatography  /堀倅ोमटैो礀밂फैी

Microscopy   /स넀ू프दिश넀琉की

Electrophoresis / वदै्युत कण­सचंलन

Correct Answer :­Chromatography  /堀倅ोमटैो礀밂फैी 

70)

Question Stimulus :­

Which is the arthropod with six pairs of legs? / छह जोड़ ेपरै के साथ इनम开뼄 स ेकौन सा सिंधपाद 堀縅ाणी ह?ै

Insecta / कीटवग넀琉

Myriapoda / िम嘁뀅रयापोडा

Arachnida / एरेἂ뀅쬀ꀅडा

Crustacea / 堀倅堀倅िेशआ

Correct Answer :­Crustacea / 堀倅堀倅िेशआ 

71)

Question Stimulus :­

The ratio of present ages of Ram and Raghu is 2:5. After 5 years their ages are in the
ratio 4:7. What is the present age of Ram? / राम एव ंरघ ुकी वत넀琉मान आय ुका अनपुात 2:5 ह।ै पाचँ वष᠀㘆



के प崁뀅ात उनकी आय ुका अनपुात 4:7 गया। राम की वत넀琉मान आय ु騆ा ह?ै

17

13

10

5

Correct Answer :­5 

72)

Question Stimulus :­

A team of 6 persons joins in a shooting competition and the best shooter scored 84 points. If he had scored
93 points, then the average score of the team would have been 84. What is the total number of points that
the team scored? / 6 लोगो ंकी एक टीम न ेिनशानबेाज़ी की 堀縅ितयोिगता म开뼄 भाग िलया और सव뀅᠀㘆म िनशानबेाज़ ने
84 अकं बनाए। यिद उसन े93 अकं बनाए, तो टीम का औसत 븀眅ोर 84 होगा। टीम न ेकुल िकतन ेअकं बनाए?

495

504

506

494

Correct Answer :­495 

73)

Question Stimulus :­

CANCELLED

Father is aged three times more than his son Kumar. After 8 years, he would be   times of
Kumar’s age. After further 8 years, how many times would he be of Kumar’s age? / िपता की

आय ुउसके बटे ेकुमार की आय ुस ेतीन गनुा अिधक ह।ै 8 वष᠀㘆 बाद, वह कुमार की आय ुका   गनुा होगा। उसके आग ेके
 8 साल बाद, वह कुमार की आय ुका िकतना गनुा होगा?

2 times / 2 गनुा

 times /  गनुा

 Times / गनुा



3 times / 3 गनुा

Correct Answer :­2 times / 2 गनुा 

74)

Question Stimulus :­

CANCELLED

A father is thrice as old as his son. 25 years ago, the age of the father was 15 times the age of the son. The
present age of the father is:/ िपता अपन ेबटे ेस ेतीन गनुा बड़ा ह।ै 25 साल पहल,े िपता की आय ुबटे ेकी आय ुकी
15 गनुा थी। वत넀琉मान म开뼄 िपता की उ樀糖 ह:ै

69 years / 69 वष넀琉

74 years / 74 वष넀琉

79 years / 79 वष넀琉

87 years / 87 वष넀琉

Correct Answer :­87 years / 87 वष넀琉 

75)

Question Stimulus :­

3/4th of 48 / 48 का ¾वा ँहै

38

36

0

None / कोई नहीं

Correct Answer :­36 

76)

Question Stimulus :­

Remainder when you divide 759 by 16 is / जब आप 759 को 16 स ेिवभािजत करत ेह最쨅 तो शषे:

7

4



0

5

Correct Answer :­7 

77)

Question Stimulus :­

In a school, 100 boys and 80 girls are examined in a test, 48% of the boys and 30 % of girls passed. The percentage
of the total who failed will be: / एक िव倁偐ालय म开뼄, 100 लड़के एव ं80 लड़िकयो ंकी एक परी茀혂ा म开뼄 जाचँ की जाती ह,ै
लड़को ंको 48% स ेएव ंलड़िकयो ंके 30% स ेपास िकया जाता ह।ै िवफल होन ेवालो ंका कुल 堀縅ितशत होगा :

70%

60%

65%

55%

Correct Answer :­60% 

78)

Question Stimulus :­

Fill in the missing alphabets  / लꀎु偐 अ茀혂र भ嘁뀅रए

ba__bab__bba__abb__

b, a, b, a

a, a, a, b

a, a, b, a

b, b, b, a

Correct Answer :­a, a, b, a 

79)

Question Stimulus :­

15% of 500 is / 500 का 15% ह:ै

70



85

75

125

Correct Answer :­75 

80)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / िन圀� चार पतो ंम开뼄 स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

Sunrise County Canoe Expeditions, Inc.

Cathance Lake

Grove Post, Maine 04638

(207) 454­7708

 

(i)      Sunrise County Canoe Expeditions, Inc.

Cathance Lake

Grove Post, Maine 04638

(207) 454­7708

 

(ii)     Sunrise County Canoe Expeditions, Inc.

Cathance Lake

Grove Post, Maine 04638

(207) 454­7708

 

(iii)    Sunrise County Canoe Expeditions, Inc.

Cathance Lake

Grove Post, Maine 04638

(207) 454­7708

 



(iv)    Sunrise County Canoe Expeditions, Inc.

Cathance Lake

Growe Post, Maine 04638

        (207) 456­7708

i

ii

iii

iv

Correct Answer :­iv 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY same as the other
three? / िन圀� चार पतो ंम开뼄 स ेकौन सा एक बाकी तीन के एकदम समान नही ंह?ै

Danish Exports Ltd

                         Vangehursej 15

                         P.O.Box J2001, Copenhagen

                         DENMARK

 

1. Danish Exports Ltd

                         Vangehursej 15

                         P.O.Box J2001, Copenhagen

                         DENMARK

 

1. Danish Exports Ltd

                         Vangehusrej 15

                         P.O.Box J2001, Copenhagen

                         DENMARK



 

1. Danish Exports Ltd

                         Vangehusrej 15

                         P.O.Box J2001, Copenhagen

                         DENMARK

 

1. Danish Exports Ltd

                         Vangehusrej 15

                        P.O.Box J2001, Copenhagen

                        DENMARK

i

ii

iii

iv

Correct Answer :­i 

82)

Question Stimulus :­

A train covers a distance of 10 km in 8 min. If its speed is increased by 5 kmph, then the time taken to cover the
same distance will be: / एक रेलगाड़ी 10 िकमी की दूरी 8 िमनट म开뼄 तय करती ह।ै यिद उसकी गित म开뼄 5 िकमी 堀縅ितघटंा की
वἂृ뀅ᘀ㔅 की जाए तो उसी दूरी को तय करन ेम开뼄 िकतना समय लगगेा?

7.5 min / िमनट

7 min / िमनट

6.5 min / िमनट

6 min / िमनट

Correct Answer :­7.5 min / िमनट 

83)

Question Stimulus :­



Thomas buys 8 pencils for Rs. 4 each and 12 pens for Rs.7 each .He sells each pencil for Rs.5 and how much
should he sell each pen in order to get the total profit Rs.32? / थॉमस 8 प开뼄िसलो ंको 堀縅ित प开뼄िसल 4 娀ਇपय ेके िहसाब से
खरीदता ह ैऔर 12 कलमो ंको 堀縅ित कलम 7 娀ਇपय ेके िहसाब स ेखरीदता ह।ै वह 堀縅㔀쀆के प开뼄िसल को 娀ਇपय े5 븀ꐆपए म开뼄 बचे
दतेा ह।ै कुल लाभ 娀ਇपय े32 पान ेके िलए उस े堀縅㔀쀆के कलम को िकस कीमत पर बचेनी चािहए?

9

6

3

5

Correct Answer :­9 

84)

Question Stimulus :­

Find the next term in the series 29,23,18,14,_____________ /⤀琅खंला म开뼄 अगला पद ꄀ댅ात कीिजए
29,23,18,14,___________

9

10

11

12

Correct Answer :­11 

85)

Question Stimulus :­

Find the next term in the series. / ⤀琅खंला म开뼄 अगला पद ꄀ댅ात कीिजए

132, 243, 354, 465, ___?

376, 685

277, 308

576, 687

403, 507

Correct Answer :­576, 687 



86)

Question Stimulus :­

Question is based on an encryption system in which: / 堀縅⤁뀅 एक एἂ뀅�堀倅पशन 堀縅णाली पर आधा嘁뀅रत है
िजसम开뼄:

(1) ‘Buy Good Oranges’ is coded as ‘BDG’ / ‘Buy Good Oranges’ को ‘BDG’ स ेकोिडत िकया जाता है

(2) 'Distribute Good Oranges’ is coded as ‘BCD’ / 'Distribute Good Oranges’ को ‘BCD’ से
कोिडत िकया जाता है

(3) ‘Oranges Are Red’ is coded as ‘BEF’; then / ‘Oranges Are Red’ को ‘BEF’ स ेकोिडत िकया जाता
है

What is the code for ‘Red’?  / ‘Red’ के िलए 騆ा कोड ह?ै

Either E or B / E अथवा B

Either F or B / F अथवा B

Either E or F / E अथवा F

B

Correct Answer :­Either E or F / E अथवा F 

87)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े堀倅म म开뼄 अगली आकृित कौन सी होगी?



Correct Answer :­  

88)

Question Stimulus :­

Prasad says, “The man in the photograph is the husband of my father’s sister’s mother.” How is the man related to
Prasad? / 堀縅सद कहता ह,ै “त⤀䀄ीर म开뼄 आदमी मरेे िपता की बहन की माता का पित ह।ै” आदमी 堀縅साद स ेकैस ेसबंिंधत
ह?ै

Father / िपता

Grandfather / दादा

Great Grandfather / बढ़ ेदादा

Uncle / चाचा

Correct Answer :­Grandfather / दादा 

89)

Question Stimulus :­



A ∆ B means A is B’s mother. A © B means A is sister of B. A * B means A is B’s father. A € B means A is brother of B. A +
B means that A is married to B. Which of the following means that X is U’s mother? / A ∆ B का मतलब ह ैA, B की
माता ह।ै A © B का मतलब ह ैA, B की बहन ह।ै A * B का मतलब ह ैA, B के िपता ह最쨅। A € B का मतलब ह ैA, B का भाई
ह।ै A + B का मतलब ह ैA, B स ेशादीशदुा ह।ै िन圀� म开뼄 स ेिकसका मतलब ह ैिक X, U की माता ह?ै

X ∆ Y € Z * K © U

P € X ∆ O © U

X ∆ Z © K € Y * U

None of these / इनम开뼄 स ेकोई नहीं

Correct Answer :­None of these / इनम开뼄 स ेकोई नही ं

90)

Question Stimulus :­

Pointing to Jane, Austin said, “This lady is the daughter of the woman who is the mother of my father.” How is
Jane related to Austin? / जने की ओर इशारा करत े堀倅ए, ऑἂ뀅堀倅न न ेकहा, “यह मिहला एक 냿眅ी की बटेी ह ैजो मरेे िपता
की माता ह।ै” जने ऑἂ뀅堀倅न स ेकैस ेसबंिंधत ह?ै

Niece / भतीजी

Aunt / आटंी

Cousin / चचरेा भाई

Sister / बहन

Correct Answer :­Aunt / आटंी 

91)

Question Stimulus :­

Which of the following is the mirror image of YATCH? / िन圀� म开뼄 स ेकौन सा YATCH का दप넀琉ण 堀縅ितिब堀倅 ह?ै



Correct Answer :­  

92)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िन圀� 堀縅⤁뀅 म开뼄, पहल ेशꨀ帅 का दूसरे शꨀ帅 के साथ िकसी 堀縅कार स ेकोई सबंधं ह।ै यिद तीसरे शꨀ帅 का चौथ ेशꨀ帅 के
साथ उसी 堀縅कार का सबंधं होना चािहए, तो चौथा शꨀ帅 होगा:

Bank  :  Money  ::  Company : ? / ब最쨅क : पसैा :: कंꨀनी : ?

Wheels / पिहय开뼄

Manager / मनैजेर

Goods / माल

Customer / 礀밂ाहक

Correct Answer :­Goods / माल 

93)

Question Stimulus :­

In how many ways can we select 2 numbers out of 10 numbers? / 10 स堀ं倅ाओ ंम开뼄 स ेिकतन े堀縅कार म开뼄 हम 2 स堀ं倅ाओ ंका
चयन कर सकत ेह最쨅?

35

40

45

50

Correct Answer :­45 

94)

Question Stimulus :­

A is older than B. C is older than A. C is younger than D. E is older than A, while D is younger than E. Who is
the youngest? / A, B स ेबढ़ा ह।ै C, A स ेबढ़ा ह।ै C, D स ेछोटा ह।ै E, A स ेबढ़ा ह,ै जबिक D, E स ेछोटा ह।ै सबसे
छोटा कौन ह?ै

A



B

D

E

Correct Answer :­B 

95)

Question Stimulus :­

Reddy starts from his house, then travels 6 km towards the east, 12 km towards the left, 6 km towards the right, 7
km to the south, 4 km towards the left, 12 km towards the left and finally travels 6 km towards the right in the
given order. Where is he now in with reference to the starting point? / रे대琉ी अपन ेघर स ेश娀ुਇ करता ह,ै िफर परूब
की ओर 6िकमी या븀옆ा करता ह,ै बायी ंओर 12िकमी या븀옆ा करता ह,ै दायी ंओर 6िकमी, दि茀혂ण की ओर 7िकमी, बायीं
ओर 4िकमी, बायी ंओर 12िकमी और अतं म开뼄 िदय ेगय े堀倅म म开뼄 दायी ंओर 6िकमी या븀옆ा करता ह।ै आरंभ िबदं ुके सदंभ넀琉
स ेअब वह कहा ँह?ै

25.6 km to the north­east / उ᠀㘆र­परूब की ओर 25.6 िकमी

44 km to the north / उ᠀㘆र की ओर 44 िकमी

27.8 km to the north­east / उ᠀㘆र­परूब की ओर 27.8 िकमी

32 km to the south­west / दि茀혂ण­पि崁뀅म की ओर 32 िकमी

Correct Answer :­27.8 km to the north­east / उ᠀㘆र­परूब की ओर 27.8 िकमी 

96)

Question Stimulus :­

CANCELLED

Select the statement which is the logical equivalent to the given statement:

/ वह कथन चिुनय ेजो तक넀琉 की ᐀�ἂ뀅崁뀅 स ेिदय ेगय ेकथन के समान ह:ै

It is not true that both red and blue are colours / यह स㔀쀆 नही ंह ैिक लाल और नीला दोनो ंरंग ह最쨅

Red is a colour and blue is a colour / लाल एक रंग ह ैऔर नीला एक रंग है

Red is a colour or blue is a colour / लाल एक रंग ह ैऔर नीला एक रंग है

Red is not a colour and blue is a colour / लाल एक रंग नही ंह ैऔर नीला एक रंग नही ंहै

Red a colour and blue is not a colour / लाल एक रंग ह ैऔर नीला एक रंग नही ंहै

Correct Answer :­Red is a colour or blue is a colour / लाल एक रंग ह ैऔर नीला एक रंग ह ै



97)

Question Stimulus :­

Select the statement, which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तक넀琉 की ᐀�ἂ뀅崁뀅 स ेिदय ेगय ेकथन के समान ह:ै

“If my paper is late, then my grade is lower.” / “यिद मरेा पपेर लटे ह,ै तो मरेा 礀밂डे िन圀� होगा।”

If my paper is not late, then my grade is not lower. / यिद मरेा पपेर लटे नही ंह,ै तो मरेा 礀밂डे िन圀� नही ंह।ै

If my grade is lower, then my paper is late. / यिद मरेा 礀밂डे िन圀� ह,ै तो मरेा पपेर लटे ह।ै

If my grade is not lower, then my paper is not late. / यिद मरेा 礀밂डे िन圀� नही ंह,ै तो मरेा पपेर लटे नही ंह।ै

None of the above / उपरो堀縅 कोई नहीं

Correct Answer :­If my grade is not lower, then my paper is not late. / यिद मरेा 礀밂डे िन圀� नही ंह,ै तो मरेा पपेर
लटे नही ंह।ै 

98)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक� चिुनये
जो िदय ेगय ेकथनो ंऔर िन櫿堅ष᠀㘆 के बारे म开뼄 सही ह:ै

 

Statements: / कथन:

 

All snails are clips. / सभी घोघं ेἂ뀅甀툂प ह最쨅।

All clips are cartridges. / सभी ἂ뀅甀툂प कारतसू ह最쨅।

Some clips are ports. / कुछ ἂ뀅甀툂प पोट넀琉 ह最쨅।

 

Conclusions: / िन櫿堅ष넀琉:

 

i.Some cartridges are ports. / कुछ कारतसू पोट넀琉 ह最쨅।

ii.Some snails are ports. / कुछ घोघं ेपोट넀琉 ह最쨅।

If only conclusion I follows / यिद केवल िन櫿堅ष넀琉 I िनकलता है

If only conclusion II follows / यिद केवल िन櫿堅ष넀琉 II िनकलता है



If both conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II दोनो ंिनकलत ेह最쨅

If none of the conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II म开뼄 स ेकोई नही ंिनकलता है

Correct Answer :­If only conclusion I follows / यिद केवल िन櫿堅ष넀琉 I िनकलता ह ै

99)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक� चिुनये
जो िदय ेगय ेकथनो ंऔर िन櫿堅ष᠀㘆 के बारे म开뼄 सही ह:ै

Statements: / कथन:

 

Some lotions are tyres. / कुछ लोशन टायर ह最쨅।

Some lotions are blankets. / कुछ लोशन कंबल ह最쨅।

All lotions are plugs. / सभी लोशन ⤀䈇ग ह最쨅।

 

Conclusions: / िन櫿堅ष넀琉:

 

i. Some tyres are plugs. / कुछ टायर ⤀䈇ग ह最쨅।

ii. Some blankets are plugs. / कुछ कंबल ⤀䈇ग ह最쨅।

If only conclusion I follows / यिद केवल िन櫿堅ष넀琉 I िनकलता है

If only conclusion II follows / यिद केवल िन櫿堅ष넀琉 II िनकलता है

If both conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II दोनो ंिनकलत ेह最쨅

If none of the conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II म开뼄 स ेकोई नही ंिनकलता है

Correct Answer :­If both conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II दोनो ंिनकलत ेह最쨅 

100)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक� चिुनये
जो िदय ेगय ेकथनो ंऔर िन櫿堅ष᠀㘆 के बारे म开뼄 सही ह:ै

Statements: / कथन:

 



All smoke are ash. / सभी धआु ंराख ह最쨅।

All ash are pinhead. / सभी राख िसरे ह最쨅।

All pinhead are rings. / सभी िसरे अगंिूठया ँह最쨅।

 

Conclusions: / िन櫿堅ष넀琉:

 

i.Some rings are ash / कुछ अगंिूठया ँराख ह最쨅।

ii.All smoke are pinhead. / सभी धआु ंिसरे ह最쨅।

If only conclusion I follows / यिद केवल िन櫿堅ष넀琉 I िनकलता है

If only conclusion II follows / यिद केवल िन櫿堅ष넀琉 II िनकलता है

If both conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II दोनो ंिनकलत ेह最쨅

If none of the conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II म开뼄 स ेकोई नही ंिनकलता है

Correct Answer :­If both conclusion I and II follows / यिद िन櫿堅ष넀琉 I और II दोनो ंिनकलत ेह最쨅 


